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1) First nnTpn

a) A person can’t sell 1ax *031 until he’s a %173 and is at least 18 years old (for ¥29)
or 20 years old (for xir 92 X117 27)

2) Second mnTpi

a) There is a nprmi that a 3™ 32 has m?73 °1°0
3) xnrM2

a) 720122 0wYn

i) owr claimed their w1 had sold o°021 while he was still a Jop — mmps
wanted to prove by an anx, 7p>72 that the 251 had m>73 *1°0 when he sold
the o°om

il) X2°py " said the 7p>72 would prove nothing because x> manw:s Pwy Pano
o

4) mooin
a) Nwp

i) At on nyw the 121 must have been at least 18 years old (for xa7) or 20
years old (for x11°r 92 82177 27) because otherwise his 77°2n wouldn’t be valid
even if he had m%7x *1°0 — so even without 1p>72 why don’t mmp® prevail
based on the npm that by age 13 a person has m77a *32°0

b) y1nas explained by R"wann

i) Inthe P72 122 7wyn it happened that before the 77°on there was a np>7a that
found no om0

5) X"wann
a) Xwp



i) Even if anom anx nunwa® pwy oo3ao PR and even if a anon anR? ape7a finds
0°1°0 — what would the 7p>72 accomplish for the mimip5 — the ow= will argue
that the o°1n°0 arrived only after the 79°n

b) v n
i) The 771°5n happened \nnn? 7o died 7°n after the 7770
ii) It follows that— if the 7 were that 7n°n IR nnwa® Mwy 0°12°0 PR — we’d

assume that om0 that are found in a later np>72 already existed at the time of
the 7°on

NP2=-.TIZ 7T
naxX "7 AIN XA 'K P70 'R XfAn? m T Nio

RNRT N2 DR KT 990D 920 579033 IR K77 MARY ROWP KR OR2 PIRT 2 DU R Mar 'R 2
299 PRIT 217 ROORT 22 RAWT N2 D1k KT N2 717 90 XPITT 9N 105 DRt N2 RN

1)

2)

3)

4)

5)

25" 217 TR RDT Ro7 0" RWR
First 7a7pn
a) If ayon 200w is 2ama all of his o°021 and is 1o nn his mann is nn»p but ann 7Y ok

b) If heis 7w and is n» later from a different "> we assume that he was “mn when
he was 72w from his first *>11

Second 7P

a) In a case where it’s known that the 1M1 was a ¥y 2°5w who later died but there’s a
P50 whether he died 1°%nn and wasn’t °nn or whether he was "5mn 72w and later
died from another *5111 — 727 goes xnwi N2 and says since he’s Now nn we
assume that he was n» all along — »»ax says 0*n% 1211 211 and we assume he was
72w from his first 511 and later died from another *»n

mwn at 2197

5211 2 5197 N7 YN 290w IR KIT R NWO R VIR 290w WD 72 200 R
D°0M 7 v 2000w PRI RO2T7 TMIT TR PR D 0N 82 N7 RO 0N
PRI LYY 1AM RO RIT OIIT DT RO INIT R ROATD AP 70X 2R

Rapiab}
a) Where the am> is 11197 X712 70w
1) nn npin favors the 1main his 7w that he was a ¥ n 2°5w and is now nn
i) xnwi7 apn favors the Sapn that the 1n1 was a X712 and can’t be i

b) 127 —"R77 15y means the %apn is o>7y2 "R X277 1Y that the 1011 was 012 — this
is because we go 1»n nptn an2 of the 1n1 — not XnwiT APt N2 based on the 1o
being 117197 82

c) »ax disagrees with 72
R"wAnn



a) Nwp

i) We’ve established that »»ax himself doesn’t go ¥nw:7 9na when it’s not known
if the vy 2°ow died from his original *>1n

b) v n

i) Inthat case »ax relied on o1 0> 211 — but in the mawn this 217 isn’t relevant
because the issue in the mawn isn’t whether the 1m1 was 71w from his original
"1 but is whether the 1m1 was a ¥n 225w or a 812 when he made his nann

w7 Ul a1 " nio'w Xana " p'n s xfan? ' T Xnio
1) First nn7pn —return to the mawn at .aap a7

2271172 1M NP VIR 200 MR RIT RO PWD R Y0 200w WD 72 200 KD
QoMM 7 Y 202WW PRI R0 IMIT TIX RP 9 — NN K91 N0 R 0N
DRI POV 1730 RO 22000 AT D RO 10T ORT RO 220 T8 2R

2) Second nnTpi
a) Where the 22 is 112199 X712 W
1) 7nn npn favors the 1main his v that he was a ¥ n 2°5w and can now be i
i) xnw7 npn favors the Sapn that the 3n1 was a X712 and can’t be i

b) If w»p % 12now qvwa 77 there is a wn that favors the 011 — the 92pn can be
79 the 1o by avp of the (ow

c) If m»pH 9o% PR 120w vwa a7 there is no won that favors the o1
3) Third 7P
a) It follows that

i) If we go 1mn nptn ana that favors 1o the Sapn can be o1 only with ov7va XA
and it’s not relevant whether the jn11 also has a wn»

ii) If we go xnwi7 Pt ana that favors 22pn» and the 111 has no wn (because X
("m»p% 7% the 9apn needs no XA at all and it’s the 1011 who needs o°7va &1 to
be o1

iii) If we go xnwn7 1prm 1na that favors apn and the 011 has a wn (because 7%
("> p% the 92pn doesn’t need 0*7va X1 but to be 171011 the Hapn needs to bring a
oW a1pa "X to be Hon the won

4) Fourth mnpi
a) It follows also that

i) A KT 87 who says the 9apn needs auw avrpa X1 must follow xnwin7 apmn
that favors the 52pn — because if he follows 1% nprn the 22pn needs a XA
o*7va and a 7w o1p2 "X isn’t enough and isn’t relevant

ii) A 2nRr7 87 who says the 22pn needs o7ya &1 must follow 1127 nprn and it’s
irrelevant whether the 011 also has a 1°» — the ®°210 here assumes that this xn»
7K7 holds that 3011 has no wn»



5) x1nk 77 of the Xma on the mwew of 1y " and wop% v on the 7x0a of the mawn

RIAR 17 — 'R X720

wph W ik
MMPD TR — 20N T PR — PRP "M TR PR — 20N TR PR —PRA "M
mPo R Rkirard mpo

Sapn N ’xnwnana | Papn nawh Rnwa Ona L P NPT AN | 9apn N XNwi N2
1

NN 1991 WRR N 1991 MMPY X PR 13 992 AR 71977 1 1991 7P TN PR

1M1 N2WY 1300 RIR IMINWT R R | TRT 1P 100 RO 19K 1M1 N2WY 13N 8D
MIRY I

R R°2TY Dapn By bR R°2TD 1M Y "R X020 Dapn By "R X272 1 Y

3% 97 0w arpa "Xnwin ana" e npn 797 oMYA "Xnwi na" 79>

7 SapnT M7 NN SapnT

7772 12T XN'M2A MO R7PY A 'Th 'R XN m T Xio

1) nnpi—aup can’t sell »ar 001

2) p7a°127RN™M

a)

b)

ow (Anown 212) claimed that their w1 was a jup when he sold 2°021 to nmp» —
mmpP? wanted to prove by an anKR? ap>72 that the w>n had %73 *1m°0 when he
sold the o051 — the ®n>12 obviously holds that fnown *12 would prevail if the
mmpPY can’t prove M?73 °n°0

Xnwi7 apin couldn’t help either 7% because even xnwit we don’t know if the 12
was a Jup or a ?17a when he died — but for a 2&7 1872 who in an appropriate case
does follow xnwi7 Pt — there is in this case an equivalent i that benefits the
mmpP? - namely the npr of "51732 Aww: 0"RR W2 M 7Y PR

3) X

a)

b)

X°wp by 13m0 " to wop v
1) The xn>»92 of 72 122 wyn presumably follows the fv*w of a°»am in our miwn

il) and since w>p? w1 says that o°»ar in the mawn go Xnwn an2 in favor of the Sapn
and m»pY 7°7x so that the 1 at least has a wn — it follows from table 1 that to
prevail the mmp» (who are in the same position as the 5ap» in the miwn) need
only a quw o1°pa "R to be 791 the won of nnown *12 (who are in the same
position as the jn1 in the mwn)

iii) So for w*p% w> why would the mmp> be 7097 if they can’t prove m?73 —when
all they need to do to be 11211 is to be o> pn the 77°0n vw with avp 7y

iIv) Must be that jam° " is correct that the oo in the 7awn go 1 NPt ana and
that’s why mmp? needed to prove the m%7) of the 25w against the 17an npin of
the nnown °12

17°n of woph v

i) In fact o°non in the mawn do go xnwi 1na and the mmp> were 7011 because they
in fact brought o»p >7v and were o1

i) Those who are qv1v» now are rown *12 who want a 17p*72 to prove that the
751 had no M%7 *1m°0



iii) It must be that mmp? are Pprmn because otherwise "11°%1 1" — the oowvo
of this "X aren’t relevant here

w7 UM IRY Xna T 70 'R0 xfan? m 7y T Ko

BRWR RIT TORRY "2 w''0 30003 KD 1''2n0 w72 10 0" nR Dawn DR aw [2 Ty 7R 7]
TARPT IRAY TP 10 DR 2N 372 200w NIRRT NN DD 1w avph M1 har w''y "o B
7' R 110 9'1R B HRW 'R WWT 2YRa IR DR 23702 RN ann 2% b XTI
B MIEMER RONR DB DT ORM 2IDY RNWIT MMPY B'R 1ANDW WWA 7T MRT "9 R
BB 199D TINRT 920 21T OO IPDT 2OMAT 12 RIT A R RN TITIT 7207RY VoD
91 T12°0 2''YY AN TIDON 91 9B RNWTT 15 N0 27 9127 PRI 202 10 a8 KT "R 9
TIDOR D B BT RDT 7R 2R 297V R D0 DT w7 2P R 90 Y17 ynahe
SIN RNWITY SINX TIDON 01 1B 20057 3320 KDY 10 RIT 2" R ' h 0w v mwpn o' ann

15" 1°aRD 237192 2327 A1 2R 1T 17T 33200 1AMPD 3R 1aN0Ww wwa 77 T MR

1) X99p 127 mwn holds that 17°°p% 799X PR 1200w 0W2 771
2) wni of the X7 for the ko of X"wann

a) " ' nR WP 12 nvaw M HRw ynw ’n" — do you mean to say that the 127 mwn
x1op follows °x " in our mawn who for your fvw holds ¥»p% 7 1R

3) 71"am" brought by x"wAin

a) xwp —Why is this a X°wp to 1am° "1 — we’ve established in table 1 that a1 " says
that o°»om hold 1»p% 7% 1x the same as 7 &» ' —and in fact X7op "2 nwn is a
X°wp to wph w1 because wph w1 says that oo hold that m>»pH 7oy

b) Asaresult 1"an1 isn’t o3 the words y»aw &n and has a different v w in this &0
altogether

4) R"wan

a) The xo7x of ynw &n is correct but it’s not w°pH w1 who says yaw &n — instead it’s
the X na that uses the xwp of wop w1 to prove that there needs to be a "qo°n" of
the muvw of 13 ' and wp% w1 as in table 2 so that it’s 131> " who says 0°1on go
XNWwi N2 and m»pL % and woph we who says o°nom go mn npri ana and PR
M*p% 7% — and this explains the x>wp of woph w1 to jam " from X9 12 nawn

1Y " Pa TR 12 weph w1 niag 0ok "on" — 1 xhaw
wPh WM um "

TR PR — 2°ndn TR PR — PR MWMPPY T — 00N T PR — PR "M

s PR mpo

N7 1R NP N2 Xnwiana | Papn nawh Xnwn ana XNWi N2
1

13 992 AR 7797 1 1991 1M7P% X PR 1991 17p% % 012 1991 1P X PR

TRT 11701301 KD 1R 1M1 N2WY N XD 1M1 N2WY 100 RIR 1M1 N2WY N 8D
MWIPY IR

R X279 Dapn Sy BRI X229 1M OV R X279 Dapn By "R X279 1M1 Oy

npIn e ovTYa "ROWT N2" a0 1R T9RR uw avpa "RNWT 2" on

M7 NN DapnT 117 2apnT

b) The & 3 answers that there’s no X*wp to 337 ' because 31 ' follows 7o 11029
who — in addition to being 79 the mw w of yam " and woph w1 — is also 79 the
muww of 7 k1 " and oo as in table 3 — with the result that o°»om hold 7°9% Px
MIPY



IR AT T TAMY TN WD WYY JAMY T MWW P5n A KYaw
I airkd ek M "
T PR — 00N TR PR — PR M TR PR — 2men MWIPY PIZ— PR M
mmpd LA Nl
N> MR NP N2 RNW3 N2 Xnwaana | 9apn naw Xxnwa ona
1
W0 92 AR 197 1NN 1991 1P I PR 1991 7P TR PR 1991 1MPR X o2
TRT 12301 82D 1R M1 NAWT 13N R M1 NAWY 13N R M1 N7 13N ROR
MMP? I
R X229 Dapn v R X279 1N OV R X279 1M OV R X279 Dapn Dy
MR NP P9 ovTYa "Xnw 2" o "}xnwia 2" oAz | wn oAb quw arpa
T YapnT YapnT 7

wn X701 2" T PN 'R xfan? m 7uT R0

VW2 TR MIN ARW 9" HRY 1D PR 292 7R 2R 70 297V "D Tewn XYM ''7a 'own
AR KD "D IR UKW V' HRT X7 2N 7 DR R DOy "0 R KD moph 3R answ
7''7 IR RIPORAT D% RTIAPN 779 w7 2" awss) 29507 95 NOTA DY AN RIT 29WR T AT
RPN RPN Rt ' nYTRT 2WR PUAT 27927 whh wN X7 1T 21T 228 JpanT
7T 727 R RY 2T 1D MIN IRW ' WD 2T KT 1IN PR KD 9'"97 B9 220 1 "D R
5D 1127 RNWTT INR J90DRT RIR 12MPR TR PR 1ANDY W2 TN T210 2" TR aRwn
N7 7007 K57 9557 N2 DIWHT RN IIDT 1200 2120 "D 2199259 33297 717 W WMPS TR PN
N7 2D RIPOAT 900 RN 77912 "D TRwn R D'RY 10 297 MIBR ORT 29w ' " v

IPTY 1B RR DD 332 ' 10 DN vl ann

1) nn7pn —xw x2pw of the X nx before the X is 791 the mw w of 1M ' and woph w
as in table 2 and adds that 731> "1 is also 79> the 71wn as in table 3

a) A1 MRMRY X PR 937 97277 IR IR

b) wp% w>n asked that «°x» " and oo are pP2wma in the awn of 190197 paari PR (the
details of this mawn aren’t relevant here) and it’s ¥nwn that o»or hold that o7y
have a 1n based on m»p% 7%

C) “qam " answered "1 7Y R K" — 027v are "n>ox and have a w»n but oonom are
77 that Mm% isn’t 2°%% and has no »n

d) wp> w1 then asked that ynx nwn 857 that you in effect said w»p2 7ax
2) In the xipon of the X

a) In addition to the 79°1 of the mv>w and of the miwn here as mentioned earlier — the
X3 is also 7pon that

i) when 111 "1 said M*pH 797X PR 937 97277 X Ik he meant that o°»on counts
as 2277 °127 relative to R "

ii) and that the mwn of ¥9019% 1anR1 PX is also reversed so that it’s 221 who hold
that ¥>°p% 7°7% 1°X and there’s no 1n even for o7y

3) mooin

a) For the xipon it must be that jam ' never said that 9077 *727 that 1%2°°p% 7% PR
4) R"wan

a) Xwp



1) We just established based on our &ona in the 73 that a1 ™ says a°»an hold
that 1>p% 7°7x X and that o°»on count as 371 127

b) v

i) Moo means that when it became obvious to jam ' that woph w1 didn’t
realize that yamy> "y was 791 the mawn — jam» ' responded that 77 927 *nnR X"
"o9wn that 2°xk» " holds that 1>p% 7°9% 1R — instead I’'m 7°57 the mwn to say
that it’s 2211 who hold that 1°°p% 1% & and who count as 5571 *127 relative
to °Rn " who says 1»ph %

5) Twnn of maoin

a) "R YT R0 7910 M1 RIPonY" — meaning 1amy " never said the things
mentioned in the X101 Ropw

6) X"wann

a) moon includes o7y *» 2R X in the earlier portions of the x*»10 among the things
that jam1° "1 never said

nxe Dn a"T0"awn 'n p'in "R XN m T R2io

B Hoy "3 XK 132797 "IN A1 JDORY "D 0" R P T2 2 awnea (R Ty TP 07
N7 77972 DaR 12 291 179 K92 IER MIMPD 792 290217 170 MSWRT MYIDa KA1 132007
TP DR DT 2YTYA RN D07 1129 DR 115 RIT 2" KRR 0 TRPIT 7R AT ann TN
71 997 'DINT 272 PAM RN 1R NPT RIZIY SORT RO2TD IO TR nMpR InmT
772 WD 772 23 2" aWNDD KON YRR KD PRYRART IR MM M RIVTY KDY Inna TIDON 1NN
27927 YT 2" awnD Wik 27 101N 12T LAk 1919 1MRR AnYTY RY 2T 72 '0In M2
9 DASWR %7 NMIMPR 792 20021 NRR NPIAR ROZITY mINn Dapn® 2dTva R TTTRT 0
2PN NPT RAT A 2ITY RIZAY WO KD AR ORI JUR STNTR 2TV R 2OWT 100uRw
SUTR 2TV RN ROATTY PO MIMIPRTY IR 20537 AR 207V ROAMY POISW 2wWns

12 7Y 9T

1) n7pa by way of oo
a) At the start of the x>0 the X nx assumed that the npyonn of jam» ' and wop2 v is

asintable 1
RI2R 777 — 'R X720
W’P'? v i)

MR P — 00N TR PR — PR TR PR — 2°n0n T PR — PR "M
PR mps P
Yapn nw xnwia N2 | apn nawk ’nwi ana nWY P NPT AN | 9apn 2wk Xnwi ona

na
nn 199 WP X 1991 1R IR PR 7 992 AR 797 10N 1991 MR TR PR
1M1 N2WY 10N RIR IMI NPT R R | TRT I 00 87D 1K) 1M1 N2WY N 8D

MIRY I
R X279 Dapn Sy BRI X229 1M OV R X279 Dapn By BRI X229 1M1 Oy
Wn IR 0w orpa "ROWw n2a" on npIn 9T o2 "RNWT 2" on
T DapnT M7 A SapnT

b) We established that jam "1 asked this xwp to woph v from the xn>92 of the nwyn
P72 0122

i) The xn>>92 of 72 122 7wyn presumably follows the fv*w of a°»am in our miwn

10



ii) and since woph v says that onon in the mawn go xnwi an2 in favor of the apn
and m>°p> 7°1% so that the 11 at least has a 1n — it follows from table 1 that to
prevail the mmp> (who are in the same position as the %2p» in the mawn) need
only a avw o1°p2 "X to be 791 the won of anown *12 (who are in the same
position as the jn1 in the 7wn)

iii) So for w>p% w>n why would the mmp» be 7097 if they can’t prove m>73 —when
all they need to do to be 1121 is to be o»pn the 77701 “vw with avp 7y

iv) Must be that jam° "1 is correct that the oo in the 7awn go 1m» npti ana and
that’s why mmp% needed to prove the m%7a of the 251 against the 1mn npin of
the nmown 12

c) In the xipon we established that the mww of 31 ' and wph wn are now reversed
and that for jamy° "1 the muvw in the 7awn are also reversed as in table 3

TTIRRAY AT 7D JAMY TN WP WYY 1 " MUt 1onn A Khab
wIph W am "
TR PR — 0°ndn T PR — PR TN PR — 2msn MWPPY T — PR
mmps MR Nl
N> PR NP N2 XNWi N2 Xnwi ona Xnwi ona
1
137 %92 AR 71977 1M 1991 MPPY X PR 1991 MPPY X PR 1991 7R X o0a
TRT 1170131 K22 1R 1M1 NAWY 1300 KD 1M1 N7 130 KD M3 N7 13 ROR
MPPY IR
"R R°2TD Dapn By BRI R°2TD T Y BRI R°2TH T Y "R X029 9apn By
Al Bl isie kbR aky i} "Xnwn ana" e "Snwn ana" 7w |owen aon quw arpa
N7 SapnT 5apnT a7

2) X naas explained by o"awn
a) ToRw

i) Now that the nv>w are reversed and w°p% w1 says that 332 go 17» npii N2
and o 7v2 X1 X°27% 22pna 9y how do we understand the x°wp of a1 " to WA
v

b) nawn as explained by o"awn — this is the X*wp by 11> " to wop v

i) presumably there were no o*7v in favor of the mmp® because if there were o7y
how is it that fmown 12 are now wavn

il) so how is it that despite the o°021 npi of the nndwn 12 the o°051 ever came to
be in the hands of nymp»

3) mooin use these words to conclude the x>wp by jam» ' to wop? v

1791 R? ORY JOp AW 02TV [Anown 212] WO IRT 32 nnown 0200 [17°17]
DWW PIVIYR XD RIXAY

4) X"wan

a) Mmooin agrees with o"awA and expresses the same thought in different words: How
is it that mmp? managed to take the o°021 and why is it that nnown 12 are the
1 vvn who have the burden of bringing o>y

b) read the words in m»oin this way

11



RIXND 1901 RY ORI P AW 027V [R0272] Pwon w2 1570%°]7 17 nnown 0300
DOWIT PIYIYR[Y 2°0217 PN MIMIPRT NPT K RN

12 Q7
['IXT TUNALINNR 2T

5 B"op "3 2w 2" N2 WMT N2 AR PN Y N0 MWRPT KT 95572 9DV "2 MNR 7''72 'O
WYY NXDIM PEWY ARITA KT 20 NIwa IRR 29773 DYDY PUATT 2™ JaR ORP ITAID N7 RN
" 'ona

B2 YD MRP YO ' MMATHT "D TIWP S0 M IM2TY RO NI PUDA JMRT 7''R2

nNY TN NID0oIN

IND R297 RTY 90707 29S0T AR 712 9997 9 Doy 12 BT PR MR 2100 RIT R 7'N2
ST 2"awNDD O WADK TITT RMWIN 92 DIIRT T N2 N2 "D Jan NMST RTAW 7 AN 1
72 RYTR 991 RPI7 IRD 72RPT 'S 2% NIADY ROWIR N2 BTIAT T ROMIT INNY RN 2503 YT 2572
90 2''RY ALY YTV IR Dhawa asn AR 19 MR SIRDI PRT 12N 1Y DHoa N7 D v A
TP T 'S 12 NI TV N2T72 RD7T 007 7107 9N 0''N 2572 'S 1an NMDT RTAW T IOR KD "'y
DR K277 K272 W M7 'S JaR NINDT K7W TIT R 7' 2 K272 119073 OR DA NATTR N7

TPYTY 'S 1AM NINDT RTW TR ANR KOOOM RUR TVANKR w002 IRD K27 N7 K27 JI0A

1) mnTpn - X at .map a7
@) "R D212 T NORN TP
i) X217 according to our X7 — the 77°0n ya1 is mw n'™ 12

i) X217 according to 0737 2190 mentioned in MoOIN at AnK 7"7 — the 77°1 a7 IS
Y 2wy 12

2) —wni of the x9na for our &ona that &237 said the 77°on 11 is 7w 1™ 12

a) ANPR RYP7 ROR AN W02 IR? X217 8T —namely the v w of 827 is derived from
the 72w of maw 2wy 1an NMind X1777 who was less than 20 years old but more
than 18 years old and for whom &2 said his 717°57 was valid because "% 20K
720" — in effect 2071 % MN20K means an average person who’s not a 0w

b) The x7nx then follows with a pos of X217 to X°wan 72 2703 that 77°on by a mpirn is
valid even at 2™ n2 so long as she’s a 721 who’s 1M1 Xwn 2102 NY7 — the same
would apply to a ?2°n who’s 2™ 12 if he’s a oo and is 3nm1 Xwn 21012 Y7

3) Twni of the x7na for *0737 n°K that X231 said the 77°0n a7 is 7w D 12

a) We’re not 013 the words 121 90 R w17°52 1KY X277 XM because none of the m7aw
teach the 7 of xan

b) Here is the order of the m72w is as set out by o"awn and as understood by n°x
0T

i) The pos of X271 to X°win 92 97°3 0N 71o7 MPn who’s JnmY Xwn 2102 YT

12



4)

i) The x72w of '5 327 Mo X177 where &2 was po» that 12031 ™2 71120x can sell
at '> 7an mind — in effect teaching that 120°m1 % mn20K counts as a 0on who’s
MY RWN 2102 VI

iii) It follows that the reference to o>awy j2n Mo X7 is X7 X7 because the same
17 would apply to aa™ 12

mooin as explained by x"wann
a) XWpP 0N 077 MR

i) It’s not 12n0n that a person who’s 120° % 71720K counts as a oo who’s Y7V
NN RWH 202

i) And since he’s not a 0or and still can be 721 when he’s mw A" 12 — it’s a Rowp
for whom does %21 say that '> 12 is the 77°0n 121

X2'T 27 2N 2T R 270 A Rn "7 T DT R0

N2 374727 ST ST N 777009 10 BRI KD 1957 230 npna 7' AR Dar "o KT M avnn ''Ta
AR D'HRT D2 77790 JATAT WD PIT FONTT AR FIAONT ROIN AW NPT TR ORTIT R B0y
RIROH ORITAT J190 2ITIN2T PR DAR 7R 1T RDYD IITVT PR UYL MW 2 W o e
"D IO RDYD 7T 90D 25T MARP T MIMIPRIT NPT 7' RDT 711 "D RINT ORR 7OV P72 00 NPT

1)

2)

3)

4)

5)

21T DR @A o RY 199 2T RRANDRT ROR
P
a) anarcounts as a 717 if he has m>7a *1°0 and is at least 3™ 12
b) Even if he has no M%7 *1°0 he counts as a 7173 at age 20 when he becomes a 0™
Rapiab}

a) To be 12K >0o12 75m a person must be a 7173 and he must also have reached 1"
"77°0n of 18 for X217 or 20 for X11°m 92 X7 20

Xn»92 of 172K °0212 oM

a) 727122 awyn — anown 12 of a nnw 0 claimed that the 25 was a jvp when he
sold a°001 — mmP> claimed that the 221 was a 2173 when he sold — one 7x wanted
to be p712 whether the 2> had m>73 "1m°0

maoin

a) First 7%nn on the requested np>72 — nnown *12 were oprmin and mmp> wanted to
take the o°0o1 from nnown *12 by np>7a that would prove that the 101 was a 7173

b) Second 721 — mmpPh were ovprmn and anown °1a2 wanted to take the o°o21 from
mmpY by 7p>72 that would prove that the 121 wasn’t a 2173

mooin qwnn as explained by X"wann
a) ToRw

i) If the pwav were Pprmin — must it be that mmp brought o7y that the 25w had
reached 77007 11 of 18 for 27 and 20 for Xi°m 92 X1 20

b) n[awn

13



d)

1) Yes because otherwise the w1 would prevail poon based on yvann Xoxan
X777 1YY that the 7911 hadn’t reached 77°on a1 — and it would avail mmp?
nothing to prove that the 23y had 120

TORY

i) If the mmpH were yprmin — must it be that they brought o7y that the 25 had
reached 77707 11 of 18 for a1 and 20 for X11°1 72 X177 20

72wn

i) No because even without o>7v the mimp% would be 71511 based on 1 amn XX
R POV

D'TY INXN 72X T'N2 "2 270 U Nn 7 T DT X0

nPIa 7R 190 1Y 32 TR 1T KPR AR 2oy "o D jan NIme R 29TV INEM AN 7''Na
TARYT SRR DOV NPT 7' DAR POOM MY 12 TR NIMIPDIT 100D 1R TR AR MIMpLT
122 1Y 12 MR DR TR 2TV 1T RD ARW A''Y 32 R 207Y RO (aph wesh a''anm

5"y 7907 INTR PR MW D 797 AR ORI 7' 121 NIND R PIOR moMd 2wy

1) Twni of the X

a)

X°wp by X771 " to X107 72 X1 29

1) for X1rm 92 &17 27 if 7 022 establishes that the 25y was ' 12 — then even if he
had no M%7 *1°0 he was a »173 as a oo — and

(1) If the pwy are ppimin why do mmiph need p>72 to prove that 10w was a
973 "PTIRR D !

(2) If the mmp are Pp1mn and 1w want to prove that 1o1m was a jop what
would they gain by a np>72 that would prove that the 101 had no 12170 —
5977 987 [M273 9300 % nv9] 0% pTa "

2) Twni of noon as explained by R"wann

a)

b)

The actual X097 in the X723 is: "7 5% [M273 °1°0 2 n°91] 2 P72 °0" and this
proves that the xmx assumes that the xn>>1a deals with where mmp were prmn

XWp

i) for x27 too since mmpP? are pimn why doesn’t X7°1 ' rely on 1°ann XX
X717 19y to decide that that the 29 either had m%73 *1°0 or had no M%7 *an°o
and was at least 20 and a o>10 who counts as a 173

YN

i) there were o>7v that the 121 was less than 20 — so that if a 7p>72 proves that
there are no m»73 *1°0 — the mmpP> can’t say that the 1o1m was 20 and a 0>7o

ToRw
i) For x21 must it also be that there were a7y that the 1o was at least 18
W

14



i) No - since the mmp? are Pprmin we’d anyway decide that the 251 was at least
18 and that 1w need to rely on a np>72 to prove that the 1211 didn’t have
mY73 °1m°0

f) noxw

i) For the o190 that say Pw were P - must 827 say that there were o7y
that the 2o was at least 18 and less than 20

g) mawn

i) We’d rule poon that the 251 was less than 20 — but it must be that there are
o7y that he was at least 18 — because otherwise poon we’d rule in favor of
7w that he wasn’t 18 and it wouldn’t avail to mmp5 to prove that he had
mY73 °1m°0

NP Q71
m IX? 2" T nIvoin

DR "D N OMA R MR 2MINY 7T 1w RP 10 % IN® 1''72 [2 Ty map 0T

NP Q71
nNX X7 2" 1

5o B oy 1o vhubuRh w''RT 15 KD WPapRa Dan vubuna KUN 19K KD 7''7a

TOON |'X DAl T"NAI "NYT NAIPNT T'NXA NIDOIN

WD 'OIN MR 22 7'M ROy D TR N NN 2 RIT N2AD NPT NXanpnaT 7''Na
PRI DR 2 RIIT 02D NPT RAPRT 10D TANTRT PATY WP RAT INNDDY 271w NDSIN
PR DITA AN NP PPORT I 2MOT 1T TN 2WOT P'T 2TINST 2w w0 1NIRR NInea
2T 'R TAI 2O 'R TV 2O QWYY SINK T YRR TN MRD 2R Swan avaTit vb e
DI NPT NAWT AR DVIW 2IMTIT MW N DV YRR DUIR ININ RIAI AT AR DWW MR

PITY R 02AD ONYT RaTpRT

MBDINT NMDIA 123 NI KA AW NIDOIN2 7''0 B oy dwpnpan 10 Youhuna To5T 1R 2M 7''N2
5" my IDbw DIDTa

1) xm

a) Before a person has m>7 °1°0 and is 18 or 20 years old he can’t sell mypap
because °111 *237 “ny7 °27pn and he might sell maxT *031 179107 at P nwn NN

b) so long as a person is at least 13 years old and has m%7 *32°0 — n7v M7y for
190507 but not for ¥pap

2) Mmoo
a) Nwp
i)  What difference does it make whether his ny7v is for ypap or Pououn
b) First y1°n

15



i) The X913 means his M7y isn’t valid on the value of ¥pp since X27p°n7 1172
"SR N MR 2" o1 v2ah nyT — presumably this means that he might
overvalue the ypap

3) X"wann
a) Nwp
i) If “ny7 X291 to °11 he ought to undervalue ¥pp
b) y»n

i) “mwn a0 amR 0w means that he might undervalue ¥pap as against mv» by
giving myn too much value — for example he might allocate mvpap worth 120
111 to one nix against 100 nr that he allocated to another nx

4) Moo Twnn
a) Second y1n according to &0 of X"wnnn

i) The difference between >vp1p and 15051 is that the 7007 from faulty m7v is
greater for vpap than for »>u5un

17 7
1'nyov A" Tn

RIS OR7T PP Do "2 RN VAR PR DI 00 N7 D TR 772 [R TN 1up 07
DINWA N7 RN VIR IR NINWR N2 ONT PR DIWIAT 17 2927 "2 RN IR npn Bweav
27737 P92 U0 NORTD DRIDWDY W NINTD 299 B "D RN VIR R Dwa BT AT RN
NI IRIIN TR IR DRI IR DIWI2 T 2097 NIDR NINW T RN WAR IR 1A RoT
RPIT 2'"'R 1200w 77 M RN 9272 7ONAND RNDDIT DRIAWS 197 115 Mnah Huand K 1R Xna
TV MYPIPY RN PRT 27T P52 N whDRw wNT "D IRNKR PRT N whnnw b w''R
DaR RI7 AW aenT PO ORNN PRT ORTIAY UR MNWA ROT KT D DWW D) RA9D
N7 JAKY 299 NINWR NP T NIPR MNW RSTT D' DY 1293977 2997 R0 9HT 12T
RabDa ROR 379 @0 7pn D102 J9RR KRBT NN DD 129217 o0 NN N 10w npn Bweav

RrA kol

1) First nnTpn
a) For poubun — ARNR M 3P MDY — 1pn P02 Mnwn Ny

b) For mypap — there is never a 17 of XX N1 — but on 11°27 says there is npn 702
where the XX is X370 — other my7 say there is npn 712 where the axnR is 0y
mnwn

2) Second nTpi
a) For 27 - mnw is measured relative to the nynw of the npn
b) For >xmw — mnw is measured both against my» and npnT PIw

c) It follows that in a case of xn>wa xwnn "w — where the nyw is 5 and the myn» is 6
and the nxx is 1 — for 21 the nxnx is a fifth of the nyw of 5 that is mnwn a0y
and the npn is Hva — while for Hxmw there is no npn 71w because although relative

16



3)

4)

5)

6)

7)

8)

9)

to npn nrw the ARNK IS Mnwn 0y the AR is exactly mnw relative to the myn
and the 17 is that ARIX 121 73P

hqulab)

a) If a "om sells mypap before he reached the minimum age for 7701 — the npn isn’t
o>>p even if the 101 sold xnewa xwnn

1w of a xwp by mooin

TITT RING ORI T3 130 PR [0 a1 AW 1 mva] 201732 o3 0K
RN IR 1Pn DA B

R"wIN
a) Nwp
i) The words nxnR 71157 npn 20°2 can’t be correct
i) Because as established in the 271 these are separate o°1>7 — namely where
the aR1X is mnwn a0y there is npn 202 and there is no ax1x 1 — and where
the aR1IX is mnw there is ax1R a1 and there is no nipn 71002
b) v n
i) The proper &o1a is the X07x in X19°1 0197 — "ARNK 1IN WX APH 2002 ) Mt
meaning that there is nipn 7102 for 27 who says the xrnx was mnwn a0 and
there is xR 1M map for HRimw who says the nxnx was exactly a mnw
Twni of msoin

a) First y1on of *»1°x as explained by X"wann
MYPIR? ARIR PRT N WIDRW 717 DY DRI [RNPW3A RwHn vp1] K17 o0l R

[Rx7D 7¥]
R"w0N
a) Nwp
i)  Why does m»ooin need to mention the special 17 of an 1121 for mypap that
there’s no Rx79 ¥ npn Mwa-at after all even for Pououn all agree that there is
no npn 72 where the R is exactly mnw
b) y1n
1) we’ve explained that the X*wp of mooin applies also to 21 and we’ve
established that for 21 a case of xn>wa xwin counts as mnwn» 1N where there
is pn w2 for 1Huhon
Twnn of mpoIn

a) Second yyn of "1 9K
i) mnwn N 82°97 1173 2037 S0and kY
R"wAn
a) This applies for >xvw who says xn>wa Rwni counts as ninw

17



I'fTIA A" TN

BRIAWTOY 1D mvmh KDY 11D IR0 IO N2 JMOWR IR "D IPITA T RN 23 "D PR e
PO T RO BAT IONATY RYIDY B B''op "o KD AT PRIMWDT 27w wnTRh Prenn e
279 RDYDY PRATRI NYRR AR NN TITAR 9 JPITR PRATRT N2 R IR0 712 INXBI ANT
23 M7 QIR WNTPY 2R WRNINT DRIAWTDY PRATR YRR ORTY TITAL 19 JpITR RY A oA
ST PRI MWRIT PRATP MR KRBT I RO 1 TNITH NWYI INY RRWT AR WY
S'RRM N7 MWV RNWITT MW 2RRORT RV ROKR 9277 KRR KD 27T M7 RYT MR 2 09 R

1)

2)

3)

4)

5)

6)

TP'ITY 20 MR T2 T TR ARITAR DR IR JIPIART NPT 1T 770 K2 25w Ko7
First 7a7pn

a) amwp becomes a 71y when she is at least 12 years old and has mawi 12°0 — she is
77v1 npna once she is 12 unless a np>7a finds no M1 a0

b) it follows that if there is a np>72 that finds mav1 "1m°0 at any time after age 12 — we
assume that there were m"y1 °1°0 when she reached age 12

Second 7P

a) A 17v1 becomes a n1x12 when she has nax12 °11°0 — we expect N7 *1»°0 to come
by the end of the last day of the sixth month after an 7w became a 71

Third nnTpi
a) When an nwx is a mwp only her father can be 1wy1p Sapn on her behalf

b) When an nwx is a 71 she can be pwy7p %apn for herself and her father can also
be yw°p 9apn for her

c) when an nwx is a n7na she can be pwp 92pn for herself and her father can no
longer be ywrp Hapn for her

X n3 as explained by msoin

a) PwTp? ppa —if an nwk after age 12 is pwirp Hapn from one person and is later
PR 22pn from a second person — if 1272 finds that she has o°11m°0 we assume
that she already had o°a2°0 at the time of the first w1 — so that the second
TWYTR aren’t n even poon

Y PUITR R
a) The case

PWIY NN X7 T 1Y IHZY WP NOW aWIAT O IR 172 TR AwTR
DI CWITPR 11N

b) The reason

i) The nwx might have become a nx12 before ax *w17°p so that ax *w17p wasn’t
on and her later 1w17°p was i — or she might have become a naaa after “whp
ax so that ax >w17°p was 711 and her own PwITR wasn’t on

mooin as explained by X"wamn
a) Nwp

18



1)  Why for 77v1 do we assume that if an 7wk had nov1 *1°0 at the time of her
second Pwi7p she also had nmwa »an°o at the time of her first 1w 7°p — so that
we’re not wwn for the second pwhrp at all

i) while for n2212 we accept that an 7w is a n1x12 at the time of her second
YR at the end of the day on now o°%w 7 &n1°2 but don’t assume that she
was already a naa2 at the time of ax >wyp earlier that day — so that
we’re wwn for ax sup

b) yn

1) We’ve established that — that there is m w1 npii starting at age 12 — but there
IS no N2 i until the end of now o°%wonT XA

'y a"Tn

XA RIWOH ORT DHAT TV 1D WIRR DY 772 D WMRY 70T NN DSR2 PR 7''Ta
310 PRI 30T RNDDR

MIXTYIXR Y A" TN

" ' RPANDRT 9O 1D 1927 NAWAT TR0 0 NOR KT MYIOR M 07 ORY 10 WAN K" 772
R'"97 R2VR 2" WARPT RNNAN ORP KDY 1Ip K92 PRAMR 12T KD 0 NINT ORP PROINRN
5"y PR Yva nawaT

e qT
ANKPI T"NA NIDoIN

TR DIAT KD A 2MWN MKW 2P0 'Y MW WARY RWIT V' ARPY 7R [2 7Y up 7]
B2 Do 1D PRI IPINAY MWW A0S PRI NIMR PP WO 2021 MMIN R IPIAY Lwa "D

DMINNX DT AN TN 'K 770 NAwa yaIn ADY NINNT X'AIo

N'"'727 2"2% Pa7Ww 72 DY AR D''OY "1 2" maT "o ey KD nawa Yax vma K72 7''Na
1T 29 927 "D TR KD D2 BaR nawa R'172 KON DR IR WAT ORP WYMR 17 RNORR
M P12 WYY RY 972 AN Nawa 17Ip opaT R''7a D1 "D nawa Dar Bima K172 IR K'Y N
TRYY KD Nawa BaR A I waT R MIN O NWY PIpa WY aRY N0 MRS IR PRT
MART 11297 RAPAR K172 ORPT 9" 95 DA WY PIPT WY AN Nawa IR PRT 2N PIpa
B2 HarR nawa K72 IR O A 9127 "D KD nawa Bar Yira K172 RO DR Pap wa 8OT
WYY KD Nawa Dar vira 1Ip ova K97 K172 DT mwvwsa b XYY 71 DR RNwnT o KD
Rb2 7wy 8D D72 DaR nawa PP opa KT K72 9" 9M272 191 Y PIp K2 WY aN) PIp K92
TR N2 72772 AR 20T PAYARE 1 AN MARY 7R M0 W IR K92 WY WY aN) PIp
519 Taph M3 TR TORY IR KD PRYP 12T PR DI 72972 R V10 IR K92 PRdR NaT
MARPTY IR RDAR INP WYY RY MARPT RT7 90 Pan'™® Pab'e 197 Wy PIpa ey anT »'"'nT
DI T 23 "D 2RI IR KD WYY KDY "'OINT 1200w RN anD B''2NmmY PIPR ORP WY WY axy

P'ITY R RPIT IR WY WY ART K7 081 ORTY 20T upTY 8D 1997 'y Xp1T b

1) mwnat:1p a7
a) o°non hold that pip *va X9 ¥y n 200w 127
b) 29X ' holds that 1217 *¥2 yn 2°5w »127
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2)

3)

4)

5)

6)

7)

hSakimnl

a) np1onn of xn " and 3770 " on the v w of ATy HR ' — mooin and R"wn assume
that 7°x» "y and 770 " also hold these mw w for themselves

RN12 — 'R XDAY

XY ORI PIP Y2 NAwA | PRI PIPA AW XY ma TRD
7K 729772 179K 37 DR 70 MR IR
PR™P 1PI2T 1°IP2 WY OX 72Y°72
Y

1Ip2 WY R? nawa IRD XY AP w2 M2 hiaheiel
DR Naw2 PP PRI TR 725772 17°0K 9377
7°IP2 WY OX 7272 RYR P27

WY

Xnooin brought by msoin
a) XnooIn
i) PR —MWwY AWy oY AWy K? nawa Har 7ina R
i) A7 " =Wy awy oRY Wy 8D 72 %2R nawa R"2
mooIn

a) nww of 0"2°7 in XNoDIN - O°IMXR 0°127 M1 refers to Y PR M in the mawn who says
1P va

2"2°7 NYWA RIMR M7 — "2 XY
WY WY oK) WY RY DaR W2 MR T R"T2 2"2M NYW 2 kDAY
IR nvoINT X"
nawa nawa baighl PRD "
baighl baighl nawa hthile!

X"wann
a) Nwpton"am

i) We’ve established for the xn>92 in table 1 that 1°x» " holds that 1°1p *ya nawa
and that 777 "1 holds that 1ap *va 9im2

b) y1n
i) 10"2 reverses the references to naw and n in Xnooin as in table 3

0"2" nEWw32 R"WIIRT XIPOH — 3 X9
WY IR WY OX) [173p] Ty 8D 9aR W2 MR T R"T2 2"2 NLW 2 RDAV
IR mooINT X"
TIP WY ORVAPR | PRI DWnA] Dna-Raws nawa a2 R "M
Wy N3 [Anon nRY 1Ip
I WY OXY 3m2 NP PRT] Nawa BR2 Sna-Aawa At
Wy Nawa [nawa

Twnn of mpoIn

a) nvw of " in Xnoown — oK 0°127 A2 refers to oo in the mawn who say *va X7
P

X"wIn
a) oRw
i) Does " also reverse the references to naw and 7 to arrive at table 4
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7792 9% XNODINT AMPIRY XA ORI — T XA

WY PIP R92 WY OX [P K22 7wy R? 22K | 1Ip w2 RY 112717 R"72
1P TWY DX Aawa [Pn2-pawa nawa e RN "
WY 92
TIP TWY OXY Mm2 [nawa 2382 DIMa-pawa Rt
WY nawa

b) Can’t be because we’ve established for the xn>>72 in table 1 that =°&» " holds that
717 °va nawa and that 7770 ' holds that 137 >va 5112

8) Twnn of mooin as explained by X"wann
a) 7oRw

i) Then does " follow table 5 that’s the same as table 4 except that naw and 7
aren’t reversed

27192 XNDOINA V" DLW MPIRY 11°XN DX — 77 KDAY

M0 20 'R M0
WY PIP R92 WY OXY IR RO WY RD PAR | 1P O¥2A RY 11277 R"M2 " nYW 7 K7W
XNo0IN2
Naw3 171p X922 AWy OXY nawa braig} TR "M
72Y°72 7P WY
D112 1Ip K92 WY oX) baighl nawa ARt

729772 0P WY

b) nawn

i) Although columns 1 and 2 in table 5 are correct — column 3 on »wy »wy ax
isn’t consistent with table 1 for the xn>92 in table 1 where we established for
7°R7 ' that "729°7212°0K PIp X972 0on°°p 1°727 1R nawa" and for 777 ' that
"72Y°72 1799 IR X732 27O 1127 PR "

i) Must be pm72 that table 6 is correct that »wy »wy ox applies where the 2°ow
¥y n made the necessary 11p

"y X920
WY IR R92 WY OX IR RO WY XD PAR | 7Ip W2 RY 11277 R"M2 " nYW 7 K7W
XNo0IN2
NaWa PP RS2 WY oK) nawa baighl PRR "
Y
DIM2 PIp ¥22 WY OX) ma nawa ARt

Ny

9) X"wann

a) moown mentions this final 7w w only for 7770 ' and 5"wann in fact follows this
Tonn — but X"wnnn applies this qvw also for 2°&» ' as set out in table 6

TP 7
ma% 'n1ad n"1n

NAW2 PR PR "D AR PP 7721 10 R KPR an 2w 5o RIT "2 nab snas '
H"eoH'"oy "D
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qoI' 21 X 2" TN

B2 B oy 10 MRP AT RVRY TR WO IR APONT 10 [P 27 MWK 772 [R 7MY 1P 07
STIAY KDY 7O RO IR CIPORT STORD ROAmD 100 RDYTY "D 1HY Nvan B5i7 ROT Minnnt B
ROIR A''5792 3 YIRT 1AM 297 RAUTT 2RI D' 20WT 737 TR MARP 21T R2WKRT 770 WM KT
5797 "2 R ART MR NN UTD ROWP RINY AT 2772 K927 KD 7001 217 R2IWKR 1 MPIND
1D B9 KD @M1 29021 TAPOR NRT 172V KDT WO 7TIP IPRT AN 297) InK 11T 917 INNT
TR PRI 2IMAT NI IND 20D B Bar 20w M5oIN 7' R'T Bow 2rvNaT whnh NN

1)

2)

3)

4)

5)

6)

e

TP —a mbn who lends against a quw can be 721 from a>7avwn — namely o°021 that
the m% owned at the time of the 7x1%;1 and that the m? later sold to mmp>

N2 - RVIR

a) Assume that the m> wrote "17°x7" in the Tvw — meaning that the m? said that the
M1 was to have a My w against o°021 that the m% buys later after the 7x1777 and
that aren’t "021w2" before the m?% buys them

b) Now

i) for 2°Kkn " who says 0719 X2 X>w 127 73pn 07X it’s a Mw w» that the m> can be
02w X2 ROW 27 TAvWn

ii) But for 13217 who say o?2w% X2 X5w 027 73pn 07X X do we say that because the
> said °1p°x7 he can be 275 X2 Xow 127 729Wn

mawn of "npo r A" in Mo

a) If am> said &7 and later bought o°051 from the mn the m%n» can be 72w from
these o°001

lah!
a) Nwp

i) Why isn’t the mwn of nps "1 1 proof that a m?% can be 7aywn future o°oo1 by
saying "1p>K7

b) v

i) The mwn deals with 23 from the m> himself — while the x°v2°x applies only
where w1 73R IPORT IR 1917 7P CIPRT

11wn here

a) if 32381 was a m» who said *17°x7 to his m» and later n°a77 %91 on 123%7 and his
father apy and 2py died first — so that j21% for a moment was w1 the o°051 of
apy> and 12187 was wn the o°0o1 immediately afterwards ("°n") to his own
w7 — the m%» can be 7213 his 211 from the o°o21 that j21%7 was war for a
moment and that then went to his owAr

XM
a) Nwp
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i) In the niawn here there was *37°&7 because 12187 had said *1p°x7 — there was 7p
because 123%1 was nnp the o°021 by w1 after the nx1%n — and there was w>nm
because 121%1 was w12 the o°021 to his owAr

i) why doesn’t this prove that a m>» can be 7213 in a case of w> 1M 71p *1P°KRT
b) y»n

i) It’s possible that the mawn follows 7R 'y who says X2 Xw 27 m3pn o7x"
"any>

7) Twnn of the X
a) X of 1mm 2

i) If 121 is a m> who had written *3p°x7 to his m>» and 32187 is also a m%» who
had himself loaned money to 1795 — then if 12381 dies and his o are 721
2°021 from "195 — the M%7 to 32187 can in turn be 721 these o021 from w1
12X

8) mpooin as explained by x"wann
a) Nwp

i) instead of the X3 asking that we ought to be vwis the ®°vax from "pnoann"
(meaning our mawn on ax 531 15y nvan 1) — why doesn’t the X na ask that we
ought to be v the X°va°r from the case of yami 21 that involved ax
from >1%o and that also involves w1 map

b) v

i) the & prefers to be v the x°v2°k from the miwn of n*an %01 that’s a greater
Xn127 because it involves 1on w1 13p *3p°K7 that’s more 1nXT >7°2v X than the
standard case of w ) m1p IR

i) once the X3 answers that the 7w of n°an 01 can be based on 7°x» " the
X7n3 realizes that the case of yam1 27 can be explained the same way

c) Nwp

i) Although the standard case of w1 7P is more 1R *7°2y than 71 WM n1p
— both cases count as &7 722y & for the purpose of the rule that 2°x» ' says
that 095 X2 X5w 127 73pn 78 only for a 127 that’s X7 72y

NIX n"T1Nn

'R B oy "o 33200 790 ROpan Ro7T PR DT 12 90 KON 1''Ta

naYn n"1n

"> aNTT RYINT RIUP 2237 "0 7R ORT DRwn 10 MR TARPTA DT TR o msn a''a
12O MDDINR B'RD "D Taynwn K97 AMURT mvmb dwa PTa KoM
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TP 7
o'in'? T'Na

"D MIRWT B IR 1D 2IMTPIAT 717721 11D NI KD YIART 209178 2D 7'RA [2 Ty np n7)
A

NEn NX "2l 2" TN

5o "2 1TV 9D 1'% PR N2 TAVNRMY DAY 7IPY MIPRT 1 2nD ORY "D 1P AR 712 ' Ta
TR POV 0127 P2 I APIRT JTR STARW QITAVIAT AT AN D' 2vw npeInn bR
YR 1R T 2OTAYIYRT 1''Yan HMURD 2901 101 10 1R KPR MR 2"y mawn npYen 3n
TR T STRIARY O VIR 2OTAYIWAT TNINRY ROR N12AXD 2R 0 NRT ARIRT 0 R D'ORT
7' 'wab 7arnwn) 10 NIRRT W 2N WIDRY 12N 1YY IR 12 171 AN U IR ININ IR 0T I
PP T2 1TV AR N2 TR 1 YA TR AR M TR RY 2RI 207aYIRT 290017 IR
N ART 2R RII1TN NI UTP N9 RPIIAT 2152 '0INT AR 2OTAVWAT R 0T MIpR anw
2OT7AVMA JNING TSI X APYRT 7280 R AD 2MIWT 2ITAVIWN 0V TIpR 20 npYenn n''yan

1H''RY TIMIRTY PRY WISPW NISTINT WY 2333 2% PN 772 72 2N Rwamm 'y

B2 H'op "D B AR IR M9 R @ " M Y Tavnwn B''aR a''Ta
1) First nnipn

a) A 211 5va can be 72w his 21 from o°021 that his 7% owned at the time of the nx1n
and that at the time of 23 are either still >r7 °12 that are owned by the m?> or are
owned by a 212 who bought the o°021 from the m?

2) Second nnTpi

a) A nwry 2 who buys o°oo1 from a m> who already had a 211 to his mbn but
leaves the m% with enough >3 °12 from which the m>» can be 7213 his 211 — can
say "max? opn 77 *nnan" to force the mon to be A first from — any remaining °12
7 and — second — from any o°021 that were >3 °12 at the time of the nx1%7 but that
m> later sold to a w np?

3) Third fn7pi

a) See the earlier m2°7 on an x°va°x whether by saying *17°87 — a m? can be 7aywn to
his 211 Hva any o°021 that the Mm% buys after the X177 was made

4) xma

a) A nwxa np? who buys nyanka o°oa1 from a m> and later loses the o°oo1 to the Hva
211 of the m% — can be 721 his 17 from >3 °12 that m% owns as well as from 2°033
o>72wwn that a »3w P12 owns — but he can be 72 his naw only from »7n °12 that
m> owns and not from *1w 12 because — at the time that *aw np17 bought his o°033
— the naw that nwr" n» might ultimately have and lose to the 211 5ya wasn’t 21%p

5) mooin
a) Nwp
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i) why didn’t the pwxa 1> tell the 2 5va "miax> opn 72 °nman” and force the
237 Hva to be man first from any >1n °12 and from “xw nY% and not from the
WX PR

6) %"wamn and X"wann disagree on the xo7x of a y17°n by mison

7) 2"waan
a) xo7 of the y1°n of mdoIn
i) "2 5¥2% 7?12 120 TAYNWH — TAVNWH 19m) T3P IPOKRT 177K
b) This is what m»oin means

i) it wasn’t until after the X177 that m?> bought the o°oo1 that he later sold to np>
i/

ii) and even if we say that 7avnwn 2311 7P *37°87 S0 that 7791 can also be man
from these later o>oo1 — still — since until the time that m> bought these later
0°021 the 211 %¥2a had the right to be 72w from the o°o21 of Pwra P2 and
R couldn’t say max? o1pn T2 °nmai — this right of the 21 %va to avoid the
mww of N2x% opn 72 nman counts as a May w by npYh to 21 Hya that 2 Sya
doesn’t lose when m% bought his later o°021

c) note that msoin in Xy>x¥n X232 disagrees with this y17°n and holds that the initial

8)

right of a 21 %v2 to avoid a 7w of "max? opn 72 °nnan" doesn’t count as a T2YW
—and a ny1? can claim max? opn 72 *nman for o°oo1 that M bought after the x195

R"wAn

a)

b)

c)

d)

11w of the y17°n of mooin here based on the X011 in 2°1w° N19oIN
i) "Tayw % 2 Syan nph nad"
This is what n1901n means

i) It was only after 211 Hva no>qw that m> bought the later o°051 and sold all or
part of them to »1w >

i) And — even if there is *1p°x7 and 72vnwn 7om m1p *3p°x7 — still once the 21 Hva
was 7121 from Pwx ap» — "7y w 93 210 Yva np 122" in the sense that 1o
WX can’t later demand that the 21 Sva return the o°oa1 that 211 Sva had been
man from pwxa 1 and recover instead against o°oo1 that m% bought after
pRale

WP
i) why does mooin in Ry ¥»n K22 disagree with this y1°n
laRit

i) If m> bought the later o°021 and sold them to »xw nY% only after 211 5va no> v —
then — when the *1w % bought his o°021 — the naw that 217 Hva was 721 from
WX mY? was already 21¥p — so that 1w npy? should have had the right to be
7213 even maw from s np1>
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ii) It follows that it must be that in our case "1 n» bought the later o>oo1 before
2117 5v2 N9

Np 71
DnIX 770 naan a™Tn 'R P70 nfan 79171 X210

1> RDID2 YPINY FTWR WA NP2 0w "M e 1D 2001 N 1121 7' 72 [N My mip 07
PYPITOT QYT KOO0 T9ORY DY MW NPT RO 7R UTR ROWR KDT X7 9O "1 R 2T
772 13aND M20 WYPNT 27T RDO02 YPIRY ANT WM APIAA 72 NP RWONA AR Y00 I

'Y ' nT PRI PaD2 WA

1) nawn as explained by the X

— NP2 20017
127 "W NPTAA

NP1 (DK "0D1)
aR "W npina —

5"0 17N
\rakisiat

Ak

'3 "% 990 2 27" 990 2 'R 7"n% 997 2 RAW N2 XU
WP wn) (Jam ™) (V7R ")
(nwx °021) 2023 | (ANWX >021) 2°021 | (ANWR °D3I) 200 o | 93 vhy A bm
P9 — 1NpIa npIma — 1npma npIma — 1npIma NWR
Lyan v VR U
v"7 591 2 y"H 590 nm NP RXin X0
27" 'R 7"
TT2CIR AT | D021 AT | P aRaw 2 | 93 vhy nhan hoa

2) nmooIn
a) Nwp

i) For the xnp Xin in the xo°0 who says for %1 n°a that where %31 1%y n°ai 593
171 MR — why does the first anxT 3&n for 997 n°a in the Xw»n say that where
INWR S 1OV n°an o1 the o°oa1 are WK wa npina and there’s no 1o

b) x"wann explains elsewhere why the &3 doesn’t ask this same x°wp for the second
TnRT 87 in the Xw> who says for 5977 n°2 in the xw»1 that o°oo1 are >wav nprma
5van and there is no yom°

nYR 1IN TN NIDoIn A p7n nfan 79171 X210

1127 5 H'oY 15 RaMIP NRAmAT aYYD W YYD MR KPP ' RIT IARR 0 wp e 7R
MBI IRWD IR '3 DR RIT ONINAY R2OPY M7 7OPDRT P02 "N B0 PR aaT '
WA WARPT PPN N7 2"YT KRNI WP R NP2 200257 7'ah 717 IR 12 e
R2OPY ' RRWIN2T IPIBAIT J90Y MR TN MR U7 RDOOR ADMTD 9 MRP R2PY 'Y RROM2
N72P 2317902 'R0 190D R2WT 1PNITH PORIP RITT DR RIMMINT DYan nw 50T 70 MRp
79 9INP 13297 DRan N H'OT INR KUK 7T ANp U1 IRD RROTT 0D J9RR NN 2 1anY
ROR 79 1P KD YR 2" DaR w20 Kwona e RTOT 21 1T KD 7Y ¥ mMRpT
WV TN "D AR RATIP NRAMAT 2YLY RN R TR TIDY TV 1202 13207 BYan nw o7 INR
7% mvmh RDOR 277 DA DRATT REAP PINND J0DRT IRADT 2R R2MP NARRT aywva
19219 D% 2TIP TN NINRT 707 27T QW 1ARD 2" awWNDD RAYY 1197 27 NPT 19T INPIaT
19977 11D TR IR DA TR 01T YA SN ARPIRA TR 957 MR ROT RRa vy "D
R2P QM 1T PRATIR TWR MWIPT RIND RTION RT2 AR RAPNIRTA D90 w7 WK ByanT awn
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1) nawn as explained by the xana

2)

3)

4)

'3 7"n% 990 2

'27"n% o0 2

'R 7"n% 991 2

RAW N°2

U7

— JNPTIA o001
APV

— INpPTNA o001
Sy277 "W npIma

(nwx °031) 0°021
npma — INpIna

o

5¥1 19y nvan 901
nwR

UK v

v"5 997 2
27"

¥"% 997 N7
'R 7"

Xnp KN

XD°0

AT2 IR A7
— 10112 0°0217
127 W DPIn2

0°021 112 IR 77N
NP1 (DK "0D1)
o WA npIna —

557 N9 XA N2
5"0 17N

5¥1 19y nvan 901
MR

\zakisiat

mooIn
a) First x'wp that was already mentioned in the prior m2°7

i) For the xnp xin in the x50 who says for %277 n°a that where %1 1% n°an 991
Y2 R — why does the first 2nx7 18 for 997 n°a in the xw say that where
INWR 73 179 N2 Yo1 the o021 are WX W npina and there’s no yome

b) First y1°n

i) Inthe xw™ - the 0021 go to 7wy *wv because vai nwy is only 11277 — while
in the x2°0 the 777 is y»17m° because the 7wy of 12 and ax: w1 are both
RNPRT

c) Second y1n

i) In the xw" the 0°021 go to WK *w1 because ¥an Nw7 isn’t 72N Nann —
while in the x9°0 the 17 is 12177° because the 7wy of both 1277 w1 and vy
OR:7 IS 72 Nann

First nn7pn to a X°wp by 1n9% 1021 to the first yy7°n of nvoin

a) Since X2py " says 991 n°ad A IR 77" in the X9°0 — it’s 9anon that he means
that — although in the xw>1 he says 1>1%m° because he agrees with “x»w n°a — still in
the xo°0 he agrees with 59771 n°a who — contrary to the X»p Xin in the x50 — say
NP 0°021 the same as they say in the Xy

b) This is consistent with >"w= who says in X¥>¥n X232 that *nnaw R2°py '
Second 7P to the ®wp by 132X 11°27 to the first yyon of mooin

a) Since x2py " agrees with the nu w of *knw n°a in the Xwn it’s 12non that he is the
X1n who teaches in the xw»1 that 5771 n»a disagree with him and >x»w n°a and say
NPT 0001

5) Third mn7pa to the X°wp by janox 1021 to the first y17°n of mson
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a) we know from elsewhere that x2°py ' says &n*7I87 2¥2n nw1 and since he
teaches the xw» it’s 7anon that he holds that all *&7 187 in the &w» agree with
him that xn>>2I87 S¥an nw

6) xwp by 177X 11021 to the first y37°n of mooin

a) It follows that we can no longer rely on the first yy7°n of mooin that relies on
11297 Hyan nw to explain the nwsw in the xwn of the first 7ax7 1xn of 577 N

7) y1nof oK 10an

a) It’s correct that X2°py " agrees with *xnw n°a in the Xw1 and that’s why he says
120K 77N In the 8970

b) Still x2°py "7 doesn’t set out the v w of 9971 n°a in the Xw» — instead another Xin
sets out the v w of 977 n*2 and that xin holds that Sva7 nw1 is 13277

8) Further xwp of 1an%& 11°21 as explained by X"w-nn
a) First mnTpi
i) By way of 71m here is the first x°wp of mooin
(1) xwp

(a) For the xnp Xin in the &9°0 who says y12m for 527 n°a where n°an 591
MR P9 oY

(b) Why does the first 7ax7 187 in the xwn say for 5277 n°a that where 593
INWR 931 1Y n°277 the 00001 are AWK w1 npna and there’s no o

i) And here are the two o°x17°n of mpoIn
(1) First yaen

(@) In the xw - the o°021 go to WK *w1 because >va7 w1 is only 11277
—while in the x9°0 the 7 is 17 because the w17 of 312 and ax:m “wA
are both Xxn» X7

(2) Second y1n

(@) In the xw™ the o°021 go to nwK *w71° because Syan nw isn’t nann
7277 — while in the x9°0 the 177 is y»1%m° because the w1 of both 32
and ax:7 >waY 1S 727 nann

b) Second nnTpn

i) We’ve established in the earlier tables that '® 9nR7 187 in the x9°0 says for n»2
991 that the o°021 are oxi7 *war npma and '2 KT 187 in the Xo°0 says that the
0°021 are J277 WA npIna

i) The X nx is w1on that '2 9nx7 3871 holds that o°021 are 327 w2 npina because 12
IS MR to be X w1 more than 1R “wa IRw

c) Third an7pi
i) Svaisx7to be nwr w1 more than MWK *wa IRY
d) xwp
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1) How is "2 7K7 187 who says in the x9°0 that 2°051 are 3277 *w21 nprna and not
OX WY NP2 because 12 is N awarS MR — consistent with 'X X7 1872 in the
Xw" that the o°oa1 are AwR *wa npma and not 27 >way nprna or e — and
it doesn’t avail 2 *w9 that Hv2 is 0 7w’ "R

e) Note that

i) This is no x>wp for the first y17°n of MmooIn that says that 'k 2nx7 &7 in the Xown
holds that 5yan nwy is 131277 —and it follows that

(1) it doesn’t avail for 2¥2 *wa that v is 2Ny 7wAr> "R because his 7w is
only 11277 while the 7w of FwR *wa is Rn»TIRT

(2) while in the x5°0 the mwn of both 12 *wa and o w9 Rw are XN»IRT
and that’s why "2 987 187 can favor 127 w2 because 72 is 0y 7w’ MR

ii) but for the second y1°n of mpoIn that holds that Hvai nwre is kn» KT the xowp
remains

(1) because this y1°n holds that in the xw>n the nwy *wAr are 1n7Ip because
their 7w is based on 72737 even though Svais a0y aw-1h »x and his
WY IS RN IRT — S0 obviously to be "ny awr" isn’t relevant and all
that’s relevant is that 5¥277 N isn’t 727 nanNn

(2) this leaves unexplained why in the x5°0 — where 3277 *w1v and vaX w1y are
both 727 niama pwar and are both kp»x7 Pway — we still favor 327w
because 72 is X w7 MR more than Pwa XY

(mwn) n'021 o NIX 770 N A" TN

295 R RANDR RO7TT A ' DAy "2 5" byan sway npma 7D "D 2%021 2 RIR 712 7''Ta
1125 YRR WOMR TR PR IART DRI 299 MWWsa 10 MR B suT e 9o "D 2N
RY R2NDMY "2 W QTR PR K2 I RPT 2% 1R wpn 191 12 BN InpimT Xepy 5

1)

2)

3)

4)

TP DRIRWY 2R B 20D
mwn

@) 2772 IRY D21117777) O°001 DMK P27 NP2 IPIPN° 2PIMIR RAW NP2 INWR DY) 1OV N°an Dol
NP (N2IN02 AW

Rplah

a) 1am " says 1P means Yyan "war npina for a reason not relevant here
b) w°p% 12 PYnw 1 says P means 1p17n

J12 07 MY XINA

a) An nwx can be 72 her 723102 only anawa

b) “xwawn 27 say that if an 7w died her 2w can’t be 12 her 7210 because X"
7125 AW WO 0T

moaon
a) Nwp
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i) Presumably j1m1> "3 agrees with &mwy 21 especially since the 7557 follows 29
SR

i) Then why does 11m1° "1 need to say that Hvai7 *wAy are 151 because the o°oo1 are
INPINA — WK WY anyway can’t be 721 because 1122 ayaw W 0IR PR

5) R"wann
a) First xowp

i) maown should more strongly have worded its Xwp as a X*wp to Hxmwy 21 from
111 " who must hold that 125 nyaw w1 o7x in order to have to explain that
the o°001 go to va77 w1 only because the o°0a1 are JnpIna

b) Second xwp

i) moown could also have asked why P w1 says 12> — and that awx “war
take half of the o°021 — even though 1°12% 7y12w W 07R PR

NYUNN T'NA

1D 39K KDY 7172 571912% w0 PRna PRIMR 11D KDY 70120 wemah o RY TwRT 7''Ra
%5 "o w2 7202 Bar "D PR 29001 1R 2''ARY 70N MY wmT "o BINYT nr w''a™
1D MIARD TR TWWT aYLR PIDAIT 1D 2% MaAY 7200 "5 75 w0 TR N0 Tawmsa YR w''a

RS "D MW RDT PRI 29012377 29021 2772 11D 1T ANT NOWINDT IRAD MWPRY K29

n'2an 791 a"1n

ARPTA 12 2932 770 @ UER "D PR AN 1277 NN ARW "D 20K 2°12 770 v "o mhan v a''ta
D% K17 "D 012 @'Y RSy "D 327 MR ART WM MR PRWINR 012 3"wn 5y 10 B van yaph
Y PONRM 2T AR ANRDYT PP DA 1R Twpn NN20

IR W KD RV AT 01 PV

N7 71
10X Q1 INX T"N2 NIDOoIN

IO RY IR NN ROW NITIPDS IR PART DY 0 IR 11D DU 90N 27 MR 7''R2 [2 Ty mip 7]
5D B oy 10 pan DU 1™ AN BY

2van 'wAIr Xana
B2 1D KPR T NV AP R ' PI90 90 "3 TR RN NPIa RN Hyan e an
XA annni 2" T 0"awn 'K p7n onn InYwT X110

B'oD KT IR VAR IV W0RW 7 MITIPDT T RO N0 29DR IRR MY AN anmy 772 a''awnea
IR MDY 327 KPR DITIPRIT 700 RIZINY 1257 122 719 KD 10 MR 12 70T ORRD 10I0R IR
"D PR 32 707 ORRY 23 119257 'O DA PARK RUN JAN ORP KD MRPT 1R NIMPRT TR ROXM
IDM INM 2R D KUK 219D 19ARR WY RPT 7190 TRREaY 1257 122 11997 110 KON 112 ARPT N7 Al

1H''RY INPINR MR T A IR

1) xm
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a) XX M7 on the w5 of onn mhw
MMpPYa 77 XXM 112 121 (2PY°) PAR 12 PAR S0012 9w (JAIRD) 12
2) o"awn

a) oannnow imply that 121%7 was a m> during »ax 2py° »n — and that either 2py sold
his own °021 or 12187 sold the o°021 after 2py> nnon — and 3287 is now alive and
wants to be mmpoa 75 XXM

3) Twnn of the Xny — MR 172 IWPY RO 7
4) n"awn

a) The xn3 means to ask what right does 12187 have — simply because he was a m?
2R 2py° 2 — to undo sales that 2py> made in his lifetime or that j721%2 made after
apy died

5) xipon of the R
a) This is what ann 1w said:
MMPoa 7% XXM 112 NnY 12X N2 PAR 20112 DR 12
6) 0"awn as explained by X"wann

a) 72I%7 was never a m? — 12187 sold 2py° 021 during 2py i — 1281 then died before
2pY> — it’s 121X 72 71 who’s now alive and is mmpoa 77 X°¥1 because 12:%7 had
no right to sell 2py° *051 while 2py> was alive

7) mooin as explained by x"wann

a) even in the x1n& 7177 the X3 understood that 12187 died 2py° »na and it’s 12 a0
12387 Who’s now mimp? 7°n X°x1m — but unlike o"awA the X3 didn’t assume for the
XK 77 that there was a 720 and asks simply what mmip® are involved here

01 971
N0 2" TN

H''xs B'oy 1> aBUNT 190 N210 "D AP PN 172 'on

"2 ' 2" TN A 9N Dnn INYYT X0

72150 "2 Y% NI KPR AR M2 327 N ROW I 1T 112 0 1100 171172 [R Ty vip Y]
21 90 1% Ran b H'MH 32209 9907 1" "5 JART RAD NILIWS2 2vINAR 27927 2N NIDIN2
'Y IRDM MY 1D IDDIW 23012 RIMIT KD 29770 KD 9 7a0R2 1D RaNA® 02 DR MR KUK K70 KD
PR 2P T DIN TN PRY IN22 707 2w 001 RIS 1 190w 299212 "1 2TR MNRT

"y AR RO

1) xx — xapon of ann now

a) 2Py’ 12 127 sold 2pye »na 2Py 2001 — 127 died before 2py> — 12187 12 A IS XXM
from the mmP% because 121%7 had no right to sell 2py> *o51 while 2p3° was alive

b) xwp
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i) Why don’t mmp? say to 12381 32 i "npon N Par TaR" — the precise meaning
of "npon NRY Par TaR" isn’t relevant here

2) mooin
a) Nwp

i) The x7mx ought to answer that j21% 32 7an answers to the mmpP that 12187 had
no right to sell 27w X2 XHw 727

b) v
i) PRn "M says o2wo X2 ROW 127 MIpn DR
c) wwp

i) but even for 1°xn ' a 1717 can work only for o°021 that in the end are 075 o°x2
at a time when the 73pn is still alive and would have been in a position then to
sell the o°0o1 — contrast this case where 12187 has already died when the o021
come to him

il) proof is that the xanx at :1op 77 says for 7°xi " that a person can’t be 71pn any
o°001 that in the end come to him when he is a oo and can’t transfer the o°031
— 50 it’s a 19w 93 that the a 1ap of 2915 X2 X5W 127 doesn’t work for 2oxn ' for
0°021 that in the end come after the 73pn has already died

a'wn X7 1782 "2 770 DNn MYYT X210

TIAVW NITIPDY NI 19 w7 2R 1D N2 YRaR 2R N0 TIORT YIRS 7AYol 20w RY 7''Na
1A 7RI 71D DY DR 7D RO J1MMPT LIS 100w axT 2oy "o 15 DY mvnn ndTY o Man by
TTAR DR TR T YRR DY aRpn Ty brwa AR N2 Pk MRnT 2mn 197 20w
SUTR PTIAR 0 YRR AR KD 2DWRT T YRR DY mmphi b Tavwn b XY avwn 8o ban
bY 37TIRYR TR MIMIPYR 2190 297 KD RN 29RO TTAR AR BW % PRphpT nImpt o
T T2 DY mbn 7' Rb ARIDR RDITT T O'RY TTIAR N2 PINDD MINM IRD O KDY R ypap
17D B RDT W' 57213 ORT 700 NINT INAY PRAT 1A 7213 WRW 2"y mvnn 00Ty KD PR

PMITY AR mban b

1) First nnipn

a) The X723 at .13p 77 mentions a npYonn whether 719 5y M%7 is 723 from Py —
OX1mw says that 119 5y mon isn’t 7213 from pwAy but the Ripon is that 79 Sy 79 is
WAV A 70

2) Second mnTpi

a) At a stage of the x>0 of *3°k7 on .13p 77 as explained by a"aw the &7n3 holds that
— although T2aynwn &% 1om 73p °32°K7 because 07w X2 XKW 27 73pn 7R PR — still
where w 1 1 there is a 7123°w on o°mn° °021 based on 377°aR N2 Y1792 M¥n —
the 72y°w counts as if it were %17 while 37°2x was alive and was 111 the 2°031

b) Now — although the ymnon 53 mgn counts as a 1o 5y mon» - still the Mayw created
by the mxn is enough to be 721 from the o n° based on the x1pon of the X9 that
79 5y M9n IS 1WA M 720
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c) it follows that w> 7ap isn’t 7avnwn for Hxmw who holds that that 719 2y m%n isn’t
WA A 70
3) mooin
a) 10" in moon offers the following y17°n to the xwp of moon on what 7avw the
mmp> might have in the case of an»n 15w to demand that Tin make them whole
for what they paid to 721%1 for o°021 that 32181 didn’t own
b) Namely —the mimp® are i that because 121%7 before he died had a 21n to make
the mmp» whole — based on o°m1n°71 5¥ mxn the mmp? in effect have a Mavw on
the o001 that the o°mn> were w1 — and the xanax here follows the xipon that 779
WA A PR D Y
C) Nwpton"am
MEoY J2IRIT 1210 7Y 0 [J2IRT] PAR DY 7w mmpoh neab o v oanb
71 Y73 739 DY Mo 9 PRT A9 O mvnan [mmpoo
4) X"wan
a) Xwp on the x°wp ton"aM
i) 0"2» just explained that the xna follows the Xipon that 75 5y mon is 12 720
IRvali!
i) So
(1) The same as the &3 said on .13p 77 that it’s not relevant that the mxn» for
o°mn° to repay a 21 of 37°ar is 79 Hva
(2) why is it relevant that in the case of ann 7w the 21°n of 12181 that gives
rise to the oomnon 5y mixn is itself also a v %y arn
b) v

i) The omnon Sy m¥n can create a T2y°w on 37°2& °021 only for o°o0o1 that j°ax
owned before he died and in that case the m%» can be 721 from omn> even
though there mxn counts only as 179 5y mo»

ii) But since in this case 12181 never owned the o°021 the 1% Yy ¥ can’t
create a T2y°w — the result for mmpY is no better (7>7v X) than the result for
ORI at .13p 7 that no May w is created by 392X N2 ¥1197 PN DY MEn
because Pxmw holds that a 75 5v 2vm isn’t w1 12 720

PTRINY 12D 2" TN

AT 205 7 PRT D' Bop "D 19 R RU2A KU PUAD xR KD M "D P P a''7a
1AND 21T WHR 1A' 2''ARNDD ans1 IRTA NV 2TWAW 501 MWW 3T TINAY AR 'R PRITa
VT3 IO MASW MIN DINT VAT VIR AT 12 T KDY 21T PIMTT 010D N2 AT TP 19T
9 9307 ©'H PDIT 5'RT 9T INT 2T IR ITONTY INS2 257 2NLTIR 2" awsY 1mbh K27
7 377 2N2K 39N 917 AN TIVY "SINT WIIBW 1A 9T TRV 2T 7T W IR 2"y b
T3 WY QTIPSR IR PTIWR 177 ANSR ORTY AT 0 WARI AR "1 170 2R K9 20TR

AR !

1) xm
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a) 7TV DOIR 22X 170200 DY YN IR RN — 21 WY1 ROW TV 0w MIY2 L YT 40
2) o"awn

a) "o nx" are 0°1>7 who signed a 31 on the quw before the 73 became a 171
3) mooin as explained by x"wann

a) Nwp to 0"awn

i) It’s correct that if the po17 was dated and the date was before the 7v became a
1213 that would be good proof that the 73 wasn’t a 1213 when he signed the vw

il) but a poa71 typically isn’t dated

iii) Now you might say 0°1>7 wouldn’t sign a 177 after the 7v became a 1713 — but
0°1>7 don’t necessarily know whether an 7v is a 1213 — and even in a case where
they do know that the 7v became a 1213 on day 2 — it’s possible that the 7v
signed a "vw on day 3 but was o>7pn the date of the quw to day 1 and that’s
why the 17 n°a signed the 5371 on day 4

b) =02 by mooin of the y17on of the xna

i) 1702 now tell us 79 a2 that on a date before the 7y became a 1713 they saw
the 7> an> of the 7v on the Tww

4) R"wamn
a) Nwp to mooin

1) Maybe a"awn in his 73%°2 means the same as mooIn — that the o°1»7 who
signed the o171 now stand before us and are 1y that they signed the poin
before the 7y became a 1713

b) y1n - this is impossible for two reasons
i) First—if so why does a"aw refer to the po177 altogether
i) Second

(1) o"awn explains at the end of his mx°a that 127 K2 ¥°R 77917 X2 Rnwm"
RPY RDPPR RIVWI 17° 2ANIR R PTYA 17 77 209K IR 237 RIT 12770 1R
"RDAn

(2) And o"awn would not have said this if he understood the x13 to mean that
o°1>7 now stand before us and are 7>y that the 7v signed the “vw before he
became a 1213 — and the o0°1°>7 say nothing about their own a7> 2n>

NN 719 10 T'Na

B "D P RYR D By ARI "R 2"'ARY 7o »''aT p''oea T'N2
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;0377 7T
AN 'WAI' X7 N2

RPPIRD 927 93 77''577 7RI DR "2 MART MR PRI AR ANT W KD K23 [2 TRy vip n7]
7YY IR DR JRINT VAR N 2TIARY PYRRN J2INT Y D27 DD TR0 MK PRI RIpORT DY
NN20 951 WA SNRP JRINT 710N IRD NP RS7IT PO DN PR DR N PR DB JAINT IR
TR N2 J2INT MWIN I PR J2INT DY D27 DD T DR MR PRI M1 MRT TR

PYTY STRPINT NN20 DY ARIT MW RIAIT W I N2 J2INT 101 RNWAT

AND 'WAI' X7 XA

RPPIRD 927 93 77577 7RI DD "D MIART IR PRI 1NN ANT W KD K23 [2 TRy vip n7]
7YY IRT DR JRIND VAR N 2R PYARY J2INT DY 1027 HDIW N0 MR 1PROINN RIPORT 1Y
NN20 951 WA SNRP J2INT 710N IRD NP RO7TT PO DU PR DR N PR DB JAINT MR
TIRZRT N2 IR VAR I PWARN JAINT DY N7 HDIW TT DR MR WM A1 MRT TR

P'NTY TP NNAD DD AR WAMT RYAT WY IR K2 J2IRT 71OR RIWT

1) xm
a) N72W

i) 727 is am? — 12w dies and then 2py dies — 12387 12 7n is war the o021 of
P

b) 17

i) the 2 Hva of 12387 can’t be &°x 1 the o021 from 71 even though the right of
T to v from 2py° as wen depends on T being 12180 12

2) Xn»™M32
2117 Y2 12IRD OV 707 WO DY AR D 17hY 00 Dol
P2 WRI NN ART IR 2T Y2 PWRI N1 ART DRI ART W
3) xenx M of the X that the xn»92 supports the mentioned 1°7
a) wio of the xn»2

127 12 N W0 231 Hva SYnean ool | POy RIPAR TN
TR YW | Nmapy WX 57 121R7 IR O
nn IR0 R VIR 2PV

NWRY
1217 712 In W0 21 Hva Sy neanho1 | PHY RIPAR M0
TR WK YW | DA NYRY WK 537 121R7 LW O
WX N2 R TR WA
12X

b) 1t’s yawn both for »ax 231 voy and wn S 1oy that if 71n is right that 12189
died first — 71n takes free of the 21 Hva of 12387 — even though the right of un to
"y from 2py or from ynw depends on his being 12387 12

4) xipon of the X na that the ®n»92 doesn’t support the mentioned 17
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a) wrd of the xn»2

IR PYRw W 2N Hya Sy neanho1 | 5w vhY Ripon
W0 R | DR 2P WK 5 1R IR
N7 2R WK R AR 2Py
R
0 N9 J2 W0 231 Hva Sy neanho1 | Hv vhy RIpon
DR JARTWR | DR oNPD WX | s Dy jaIRD Ak7amlal
YR NWRI bw W
1287

b) It follows that the nw1 of Pwnw and *1%9 12 don’t depend on 121X

5) R"wann

a) the xipon could also have explained w11 %3 15 this way where here too »17
isn’t W based on his m2>7p to j21%0

IR TR D W0 21 Hva Sy n°an 901 Yoy "W

VA IRY | DD 2R IWR 5 1R WM 9N
12T WK YW RIS TIN PR
WX N 1287

b) note that in this case 7 is 1 that 32187 was w1 nn — while in the Rn& 77 0n
PR B 10w the Xn3 assumed that it was 12187 72 71 who was 1w that 712180

was WX nn

MmN X A'TN"2awn

TR A" 2"ARY 707 "2pa R RIS K77 "D NIRRT "D Bran 1o AR s 772 2 awnna
[2p2 RIS MR HYaAR 91 H'us Bop "o T KD "2pa N7 "D Mapa RIS AR NwAn jan
2T M2P2 RYTWS 1N WD '0INT DAR 202 RIS YIMN 20

See X"wvann 70 to Phma v at (7p a7

NXInn "1 Nn"avwn

1HRD "D AT RITA "D BURT RYTT T

*k*k

nnw on TV 1T
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	דף קנד.
	תד"ה ועוד סימנים
	[דף קנד עמוד א] בא"ד פי' על טומאתה שנודע כו' ימות הגשמים משעבר שם כו' עכ"ל כצ"ל:

	תד"ה וכן אמר רבה
	תד"ה ועוד סימנים
	בד"ה ועוד סימנים כו' וא"ת למה יש לנו כו' י"ל שאחר שהיה זה גדול כו' לא היה לו סימנים כו' עכ"ל פירוש כבר בגדולתו קודם המכירה בדקו אותו ולא היה לו סימנים דהמכירה ע"כ היה סמוך למיתתו שאם חיה אחר המכירה אין בדיקתו ללקוחות ראיה שמא אח"כ הביא סימנים וכ"כ בחד...


	דף קנד.-קנה.
	סוגיא דעל מי להביא ראי' חלק א' גמרא אמר לי' אביי
	גמ' א"ל אביי מ"ט כו' יש לדקדק מאי קא קשיא לאביי דהא איהו גופיה סבר לעיל דלא אזיל בתר השתא אלא בתר חזקת ממון וי"ל דדוקא לעיל הוה סבר דלא למיזל בתר השתא משום דאיכא רוב חולין לחיים משא"כ הכא דלא שייך רוב וק"ל:
	לא כתב בה לשון שכיב מרע ולא לשון בריא הוא אומר שכיב מרע הייתי וחוזרני בי ומקבל אומר בריא היית ולא תחזור לר' מאיר צריך הנותן להביא ראי' ששכיב מרע הי' וחכמים אומרים צריך המקבל להביא ראי דנותן בריא הי' דהרי הוא מוציא מחבירו ועליו הראי'

	סוגיא דעל מי להביא ראי' חלק ב' גמרא שיטות ר' יונן וריש לקיש
	לא כתב בה לשון שכיב מרע ולא לשון בריא הוא אומר שכיב מרע הייתי וחוזרני בי ומקבל אומר בריא היית ולא תחזור – לר' מאיר צריך הנותן להביא ראי' ששכיב מרע הי' וחכמים אומרים צריך המקבל להביא ראי דנותן בריא הי' דהרי המקבל מוציא מחבירו ועליו הראי'

	סוגיא דעל מי להביא ראי' חלק ג' שקלא וטרי' בברייתא דבני ברק
	סוגיא דעל מי להביא ראי' חלק ד' גמרא שאל ריש לקיש
	[דף קנד עמוד ב] שם שאל רשב"ל את ר"י כו' בחדושי רמב"ן לא גרסינן ת"ש כו' ושאלה היא ששאל ר"ל כו' ע"ש אבל נ"ל לקיים שפיר כל נוסחות הגמרות שכתוב בהן ת"ש שאל כו' ומקשה למאי דקאמר תלמודא לעיל לר"י מתני' ראיה בעדים ולר"ל ראיה בקיום השטר ת"ש ששאל ר"ל לר"י כו' ...

	סוגיא דעל מי להביא ראי' חלק ד' תד"ה והלא משמך
	תוס' בד"ה והלא משמך כו' עדים הס"ד ואח"כ מ"ה ברם נראין כו' וא"ל ר"י שאני אומר מודה בשטר שכתבו א"צ לקיימו לא אמר כו' עכ"ל הד"א כצ"ל מה שכתבו הא דא"ל ר"י שאני אומר כו' לא אמר דבר זה מעולם הוא תמוה לפי גירסת כל הספרים וכפרשב"ם דמשני לה תלמודא לפי המסקנא מ...

	סוגיא דעל מי להביא ראי' חלק ה' רשב"ם ד"ה הכי קאמר
	[דף קנה עמוד א] בפרשב"ם בד"ה ה"ק ליה ר"י כו' ואפכינן נמי מתני' דלרבנן א"צ כו' עכ"ל ר"ל דלרבנן ניחא בפשיטות דמשכחת לה דנכסים ביד לקוחות אפי' בלא קיימו ולר"מ בקיימו אבל לדידך דלא תיפוך מתני' כדמוכח מה דהקשה לו לימא ר"מ היא כו' א"כ לרבנן דס"ל ראיה בעדים ...
	[לדידך] היכי משכחת לה דיביאו היורשין [בני משפחה] עדים שהי' קטן ואם לא יוכלו למצוא מאי מערערין היורשים
	היכי משכחת לה ד[יצטרכו יביאו היורשין [להביא] עדים שהי' קטן ואם לא יוכלו למצוא [מאי הא דקתני דלקוחות נחתי לנכסים ו]מערערין היורשים


	דף קנה.
	תד"ה איתמר ובא"ד דאמרינן
	תוס' בד"ה אתמר כו' טפי בהכי הא דקאמר כו' ור"ש תירץ שם כו' דהיינו בת י"ב שנים כו' עכ"ל כצ"ל ור"ל דהאי כנגדו קאי אבן י"ב דהגיע לעונת נדרים שאז בשנת י"ב היא גדולה ושפיר חולצת וע"ש בתוס' וק"ל:
	בא"ד דאמרינן בפרק מצות חליצה לדברי ר' יוסי קטנה כו' דלדברי ר' יוסי קאמר כו' כצ"ל:

	תוספות בא"ד שהרי
	בא"ד שהרי הוא כתוב אחר שלח גידל כו' עכ"ל ר"ל דלפי מה שמחקו הספרים דגרסינן והא דרבא לאו כו' כתבו הך עובדא דפחות מבן כ' כו' בתר הך דגידל בר מנשיא דהוה מפרשי ליה כפרשב"ם דמיירי בחכם ויודע בטיב משא ומתן דומיא דהך דגידל בר מנשיא ופחות מבן כ' דקאמר לאו דוקא...

	סוגיא דכי בדקי לי' מאי הוי חלק א' תד"ה מתיב רב זירא
	בד"ה מתיב ר' זירא כו' אבל למ"ד בחזקת יורשים הוו לא הל"ל כו' ולפי זה אין הוכחה גמורה דבזמן כו' עכ"ל צ"ל דודאי למ"ד בחזקת יורשים איכא הוכחה גמורה דהיה ידוע לנו דבזמן מכירה מכר דאל"כ אף אם היה לו ב' שערות ליטענו היורשין דעדיין ליכא זמן המכירה אבל שיעור ד...

	סוגיא דכי בדקי לי' מאי הוי חלק ב' בא"ד אבל מצאו עדים
	בא"ד אבל מצאו עדים שהיה פחות מבן כ' כו' עכ"ל אף שלא העידו שהיה בן י"ח כיון דלמ"ד בחזקת הלקוחות קיימי קיימינן מצו למימר הלקוחות שהיה בן י"ח מספק אבל למ"ד בחזקת יורשים קיימי הוצרך ריב"ם לפרש לקמן שהביא עדים שהיה בן י"ח שאם לא היו עדים שהעידו בפי' שהיה ב...


	דף קנה:
	תוספות ד"ה לאו מי
	[דף קנה עמוד ב] בד"ה לאו מי כו' קא משני הס"ד ואח"כ מ"ה הכי גריס ר"ת כו' כצ"ל:


	דף קנה:
	תד"ה לא אמרו
	בד"ה לא אמרו אלא במטלטלי אבל במקרקעי לא כו' דמ"ש למטלטלי כו' עכ"ל כצ"ל:

	תוספות בא"ד דמקרבא דעתי' ובא"ד וגם אין הפסד
	בא"ד דמקרבא דעתיה לגבי זוזא ישום אותה יותר משויה כו' עכ"ל כ"ה בכל נוסחות תוס' שלפנינו ובתוספות ישנים ולכאורה הוא קשה להבין דאדרבה כיון דמקרבא דעתיה לגבי זוזא ישום את הקרקע בפחות משוויה ויש ליישב דבריהם דה"ק דישום אותה היינו דישום מן הקרקע שיעור יותר ג...
	בא"ד וגם אין הפסד במטלטלי כמו במקרקעי עכ"ל כ"ה בתוספות ישנים והוא יותר נכון מנוסחת התוספות בדפוס שלפנינו וק"ל:


	דף קנו.
	תד"ה וליטעמיך
	[דף קנו עמוד א] בד"ה וליטעמיך כו' דהוי ליה ביטול מקח להחזיר אונאה כו' עכ"ל ק"ק האי לישנא דביטול מקח ומחזיר אונאה ב' דברים הן דביטול מקח הוי ביותר משתות וקנה ומחזיר אונאה הוי בשתות ונראה להגיה דה"ל ביטול מקח ומחזיר אונאה כו' ר"ל לרב כדאית ליה ולשמואל כ...
	וא"ת גם בגדולים [כלומר במי שהגיע לזמן מכירה] אין ממכרו מכר בכהאי גוונא דהוה לי' ביטול מקח להחזיר אונאה
	אי נמי דוקא [נקט חמשא בשיתא] ואתי שפיר למה שמפרש ר"ת דאין אונאה לקרקעות [עד פלגא]

	תד"ה בודקין
	בד"ה בודקין כו' וגם מהניא הך בדיקה כו' אי משכחינן בתר הכי סימנין כו' וליכא למימר כו' וכדשמואל כו' חוששין לקדושי שניהם דלשמואל דהתם לא כו' עכ"ל כצ"ל ופירוש לדבריהם דגם מהניא הך בדיקה דאם נמצאו בה סימנין אף בתר הקדושין מחזקינן לה שגדולה היתה אף בשעת הקד...
	קידשה אביה בדרך ובאותו יום דמישלם שית קידשה עצמה בעיר והרי היא בוגרת עכשיו חיישינן לקידושי שניהם

	תד"ה ולגירושין
	בד"ה ולגרושין כו' בהכרת גומות הס"ד ואחר כך מ"ה וכי מאחר כו' ועוד דהל"ל האי לישנא למאי הלכתא בדקינן לגרושין כו:

	תד"ה ר' אלעזר אומר
	בד"ה ר"א אומר כו' ואי גרס ר' אליעזר הא אית ליה בסמוך דבשבת דבריו כו' עכ"ל דמסתמא ר' לוי אמתניתין קאי דאית ליה לר"א דבריו קיימין בלא קנין ולא קאי אברייתא דקאמר ר"מ אליבא דר"א דבשבת בעי קנין וק"ל:


	דף קנו:
	תוספות בא"ד וקאמר
	[דף קנו עמוד ב] בא"ד וקאמר ר"י הנשיא שאמר משום ר' יעקב שאמר משום ר"מ כר"א דבחול צריך כו' בשטר ובחזקה ר"א אומר נכסים שיש להן אחריות נקנין בכסף ובשטר ובחזקה ושאין כו' עכ"ל כצ"ל:

	סוגיא דמתנת שכיב מרע בשבת חלק א' בא"ד במה דברים אמורים
	בא"ד בד"א בחול אבל בשבת לא יעשה כו' דברי ר"מ כו' עכ"ל נראה לפי מה שהבין ריב"ם דבד"א אמלתא דר' אליעזר קאי דבעי קנין צ"ל הגירסא בד"א בשבת אבל בחול לא יעשה כו' דברי ר"מ ור"י אומר ר"א אומר בד"א בחול אבל בשבת כו' ופי' בד"א דבעי קנין בשבת אבל בחול לא יעשה ב...


	דף קנז.
	תד"ה כבינתי לבתי
	בד"ה כבינתי לבתי כו' דהכא ופי' רש"י התם נושקא ולמה כו' ובד"ה קונין מש"מ כו' אין מגרשין בשבת כו' עכ"ל כצ"ל

	תד"ה אמר רב יוסף
	[דף קנז עמוד א] בד"ה אמר רב יוסף כו' דאיקני קנה והוריש מיד ואליבא דר"מ קאמר כו' עכ"ל כצ"ל ר"ל דממתני' דהכא דנפל הבית עליו כו' עדיפא ליה להביא ראיה דאיקני קנה והוריש מיד ולא עבידי דאתו ודחינן לה דאליבא דר"מ קאמר אדם מקנה דשלב"ל וא"כ ההיא דרב נחמן דאייר...

	תד"ה אלא
	בד"ה אלא כי כו' דפי' לעיל דהכא מבעיא ליה לרבנן כו' עכ"ל כצ"ל:

	תד"ה מצוה
	בד"ה מצוה כו' בסמוך מדפריך מדקאמר מלוה כו' משמע דאי למ"ד כו' דגבי קטינא דארעא דהתם כו' והכא בדין בעי למימר דאע"ג דלא משתעבד כו' כצ"ל מתוספות ישנים:


	דף קנז:
	בא"ד ליתומים
	[דף קנז עמוד ב] בא"ד ליתומים גדולים דאמרי לא ניחא כו' ובד"ה המוקדמים כו' אך י"ל דשאני כו' כצ"ל:

	תד"ה גובה את הקרן
	בד"ה גובה את הקרן כו' ואפי' כתב לו דאקני וקנה ומכר ומשתעבד כבר לקח הב"ח כל שעבודו כו' עכ"ל כצ"ל מתוספות ישנים ור"ל לתירוצם דבין המשועבדים שגובה מהן הלוקח הקרן ובין הבני חורין שגובה מהן הלוקח השבח ע"כ איירי שלא היו לו למוכר נכסים כשטורף הבע"ח המשועבדים...
	בד"ה את"ל משתעבד לוה ולוה כו' והוריש לוה ולוה אפילו את"ל כו' עכ"ל כצ"ל:


	דף קנח.
	סוגיא דנפל הבית חלק א' תד"ה ובית הלל אומרים
	[דף קנח עמוד א] בד"ה וב"ה אומר נכסים כו' קשה לר"י מ"ש כו' בחזקת יורשי אשה ואילו בסיפא כו' מודים שיחלוקו כו' עכ"ל הא דלא קשיא להו למ"ד הכא בחזקת יורשי הבעל ואילו בסיפא מודים דיחלוקו וכן בנכסי מלוג ברישא קתני ב"ה בחזקת יורשי האב ואילו בסיפא מודים דיחלוק...

	סוגיא דנפל הבית חלק ב' תוספות בא"ד מיהו קשה
	בא"ד מיהו קשה לר' אלחנן דהא ר' עקיבא איירי כו' וע"ק לו לטעם דמחמת קורבא כו' עכ"ל פי' לדבריו נ"ל דרבינו אלחנן ס"ל כפרש"י בפרק המפקיד דר' עקיבא שמותי הוא משל ב"ש ואומר בשאר נפילות יחלוקו בזו אני מודה לב"ה שהנכסים בחזקתן והשתא הקשה הר"א דע"כ האי יחלוקו ד...

	תד"ה ובית הלל אומרים נכסים (השני)
	בד"ה וב"ה אומרים נכסים כו' למ"ד בחזקת יורשי הבעל ל"ל כו' אבל ר' יוחנן דהכא מסתמא לא פליג ארב כו' עכ"ל ק"ק דטפי ה"ל להקשות כן בפשיטות לרב ושמואל דאמרי אין אדם מוריש שבועה לבניו ל"ל טעמא דחזקתן ת"ל כו' וכן תקשי להו לר"ל דקאמר יחלוקו והלא אין אדם מוריש כ...

	בא"ד האשה
	בא"ד האשה לא תוכל להוריש לבניה ולא כו' מוחזקין בממון כו' להוריש לבניה בממון ולא אמרינן כו' ולב"ש נמי הואיל כו' דחייש לצררי הס"ד ואח"כ מ"ה נכסים בחזקתן כו' אבל בכתובה ב"ש כו' פליגי ב"ש אפילו בכתובה כו' ולהכי יש כח כו' כתובה לגבות מחיים כו' דיחלוקו מטעם...

	תד"ה נפל הבית
	בד"ה נפל הבית כו' שיש לה בנים אחרים כו' שאם מת הבן אחריה אין כו' אפי' יש לה בנים כו' מדקאמר לקמן גבי נפל כו' ופי' רש"י בני מורישין אחי יורשי האב אחי הבן כו' עכ"ל ומ"ש בניי כו' הוא לפי סברת המקשה לקמן אבל עיקר הוכחתם לקמן מדברי המתרץ ע"ש:


	דף קנח:
	תוספות בא"ד אמר רב אסי
	[דף קנח עמוד ב] בא"ד אמר רב אסי נוטל כו' אז יחזור על האחין אי כלקוחות שלא באחריות אז לא יחזור על האחין ולכך נוטל רביע כו' עכ"ל כצ"ל:

	גמרא יורשי הבעל
	גמ' יורשי הבעל ורא"א בחזקת יורשי האשה כו' כי סליק ר' זירא קם בשיטתיה דר' אילא כו' כצ"ל:

	סוגיא דשלחו מתם חלק א' רשב"ם ד"ה ומתמה גמרא
	בפרשב"ם בד"ה ומתמה גמ' לוה מאי מפיק כו' יוציא מיד הלקוחות מה שמכר להן אביו או הוא עכ"ל נראה מפירושו למאי דס"ד בן שלוה כו' לא מיירי בבן הבן שמוציא מיד הלקוחות אלא הבן שלוה גופיה מוציא מיד הלקוחות ומת דקאמר לא קאי אבן אלא אאביו אבל התוס' הבינו גם למאי ד...
	בן (ראובן) שלוה בנכסי אביו בחיי אביו (יעקב) ומת בנו מוציא מיד הלקוחות
	בן שמכר בנכסי אביו בחיי אביו ומת בנו מוציא מיד הלקוחות


	דף קנט.
	תד"ה הואיל
	תוס' בד"ה הואיל והוחזקה כו' סובר כיון דתטלם כו' עכ"ל כצ"ל:

	סוגיא דשלחו מתם חלק ב' תד"ה ולימרו לי'
	[דף קנט עמוד א] בד"ה ולימרו ליה כו' היינו כגון שלא מת הבן בחיי האב אלא שנתנו לו כו' עכ"ל וכ"ה בתוספות ישנים ודבריהם מבוארים בפשיטות למאי דאמרינן פ' י"נ יכיר לרבנן ל"ל למיתבא לו פי שנים לא יהא אלא אחר אלו בעי למיתבא לו במתנה מי לא יהיב לא צריכא בנכסים ...

	סוגיא דשלמו מתם חלק ג' בא"ד לא חשיב
	בא"ד לא חשיב נמי לענין ראוי דאינה כו' שגבו קרקע בחובת כו' וע"ק למה יש לו להיות ללקוחות שעבוד על אביו מי עדיף ממלוה על פה כו' עכ"ל הגם שכתבו לעיל דקיימינן הכא כמ"ד מלוה על פה גובה מן היורשים היינו משום דמצוה לפרוע חובת אביהן בשחל השעבוד מעולם על קרקע ז...
	למה יש לו להיות ללקוחות שעבוד על אביו [ראובן] מי עדיף [חיובו דראובן לפצות ללקוחות] ממלוה על פה דאין לך מלוה על פה גדול מזה

	תד"ה כגון שהוחזק
	בד"ה כגון שהוחזק כו' מי לא מצי למטעי בההוא גברא אי גזלן כו' עכ"ל ר"ל דאין דרך לכתוב זמן בהנפק וא"כ אף שמתוך זמן השטר ניכר שבטרם היותו גזלן נכתב כפרשב"ם מ"מ אפשר שהיום כתבו הגזלן והקדים זמנו ובא לפני הדיינין היום ולא ידעו בו שהוא גזלן וקיימוה היום אחר ...

	בא"ד בסוף פרק קמא
	בא"ד בספ"ק דב"מ הס"ד ואח"כ מ"ה ואף על פי שלא הוחזק כו' כצ"ל:


	דף קנט:
	גמרא לא יורשי האב
	[דף קנט עמוד ב] גמרא לא יורשי האב אחיו מורישיו אחי דאבוה כו' כצ"ל נראה דה"ה נמי מצי לאוקמא לפי המסקנא מורישיו אחי כגון שנפל הבית על ראובן ושמעון ואחיהם לוי אומר ראובן מת ראשון ובע"ח אומר ראובן מת אחרון וירש את שמעון ונטל חלקו דהכא לוי לאו מכח ראובן קא...

	גמרא לא יורשי האב
	[דף קנט עמוד ב] גמרא לא יורשי האב אחיו מורישיו אחי דאבוה כו' כצ"ל נראה דה"ה נמי מצי לאוקמא לפי המסקנא מורישיו אחי כגון שנפל הבית על ראובן ושמעון ואחיהם לוי אומר ראובן מת ראשון ובע"ח אומר ראובן מת אחרון וירש את שמעון ונטל חלקו דהכא לוי לאו מכח ראובן קא...
	נפל הבית עליו ועל אביו ועל מורישיו והיתה על ראובן בעל חוב
	יורשי האב אומרים דאב מת ראשון בעל חוב אומר האב מת ראשון יחלוקו

	רשב"ם ד"ה אמר אביי
	בפרשב"ם בד"ה אמר אביי כו' בבעל כו' המקראות כו' הד"א כשהיא מתה בקבר הס"ד ואח"כ מ"ה אין הבן יורשת אמו כשהוא בקבר כו' האי בקבר לא דמי כו' עכ"ל כצ"ל ור"ל אבעל איירי כשהיא בקבר ולבן איירי כשהוא בקבר אבל התוס' פירשו תרוייהו כשהוא בקבר ודו"ק:

	רשב"ם ד"ה ההוא
	בד"ה ההוא דא"ל כו' גררא דמיירי כו' כצ"ל:



